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WO S R4~R10 147 4 58 0 0.08 A AT 54 492 98 20% AR =
WIRDNO RS R4~R10 147 4 59 0 0.17 s AT 76 613 123 20% T =)l
VA Pr o S R R4~R10 147 4 60 0 0.23| =D BRS 61 144 29 20% RS =l
WO E R4~R10 147 4 61 1 0.36] DA RKIR 61 144 29 20% TR =
WO S R4~R10 147 4 61 2 0.15| D)~ RKIK 3 4 1 20% e =
BIRDNO RS R4~R10 147 4 62 1 0.17] Z DA RKIR 61 144 29 20% T =)l
VA PY uS R4~R10 147 4 62 2 0.02] Z DA )i KR 3 4 1 20% RS =Rl
WA OEMIEE  [RA~RI0 147 4 63 0 0.14 2 AT 66 568 114 20% e =
WO S R4~R10 147 5 1 0 0.09 s AT 68 579 116 20% B =)l
WO S R4~R10 147 5 3 1 0.3| ZofhJE KR 71 150 30 20% T )l
WO S R4~R10 147 5 3 2 0.01| D)~ RKIR 3 4 1 20% e =
WO S R4~R10 147 5 4 1 0.11] Z DA )i PR/ 53 135 27 20% B =)l
WO S R4~R10 147 5 4 2 0.34 2X AT 51 469 94 20% B =)l
BIRDNO RS R4~R10 147 5 10 0 0.06 AR AT 66 568 114 20% T )l
WO S R4~R10 147 5 11 0 0.1 A AT 66 568 114 20% e =
WO S R4~R10 147 5 12 0 0.39 X AT 66 568 114 20% B =)l
WO S R4~R10 147 5 13 0 0.05 s AT 76 613 123 20% il =)l
DR OEMALE R4~R10 147 5 15 0 0.11| D) KR 70 150 30 20% RS )l
WO S R4~R10 147 5 16 0 0.04| Z= DA RKIR 81 152 30 20% AR =
WO S R4~R10 147 5 17 0 0.04] Z DA )i PR 81 152 30 20% B =)l
BRSO R R4~R10 147 5 18 0 0.02| D) KR 67 148 30 20% T =
VA PY S Ry R4~R10 147 5 20 0 0.01] ZDfh )1 RIR 76 152 30 20% RS =l
WO S R4~R10 147 5 21 0 0.01] =D RKIR 81 152 30 20% AR =
WO S R4~R10 147 5 23 0 0.04] Z DA )i PR 69 149 30 20% B =)l
WIRDNO RS R4~R10 147 5 24 0 0.05| D)~ RKIR 81 152 30 20% T =)l
VA PYSuS iRy R4~R10 147 5 25 0 0.09] Z DA )i KR 96 152 30 20% RS =il
WO BRMAE R4~R10 147 5 27 1 32N KR 96 152 30 20% B =
WO E R4~R10 147 5 27 2 0.45] Z DA )i KR 3 4 1 20% B =)l
BRI RS R4~R10 147 5 28 1 0.13| D) KR 96 152 30 20% gl =il
WO S R4~R10 147 5 28 2 0.13| ZDfh)nA RKIR 66 148 30 20% e =
WO S R4~R10 147 5 29 1 0.03] Z DA )i KR 86 152 30 20% B =)l
WO S R4~R10 147 5 29 2 0.07| Z DA )i KR 3 4 1 20% B =)l
DR OEMAL S R4~R10 147 5 30 0 0.07] Z DA )i PR 3 4 1 20% T =il
WO S R4~R10 147 5 32 0 0.02| ZDfh)nA RKIR 76 152 30 20% e =
WO S R4~R10 147 5 34 0 0.11 2X AT 53 484 97 20% B =)l
WO S R4~R10 147 5 35 1 0.12] Z DAt KR 71 150 30 20% T =)l
DR OEMALE R4~R10 147 5 35 2 0.12| =D KR 3 4 1 20% RS )l
W OBRMAE R4~R10 147 5 37 0 0.01 X AT 60 532 106 20% AR =
WO S R4~R10 147 5 38 0 0.01 s AT 61 538 108 20% B =)l
WO ES |[RA~RI10 147 5 40 0 0.01 s AT 61 538 108 20% el =Rl
VA PY S Ry R4~R10 147 5 46 0 0.11 AX AT 76 613 123 20% RS =)
WO MAE R4~R10 147 5 47 0 0.05 X AT 76 613 123 20% AR =
WO S R4~R10 147 5 48 0 0.08 s AT 76 613 123 20% B =)l
WO ES |[RA~RI10 147 6 1 0 0.02 s AT 48 445 89 20% el =Rl
VA PY S iRy R4~R10 147 6 2 0 0.02 AX AT 48 445 89 20% RS =)
WO E  [RA~RI10 147 6 3 0 0.08 2X AT 48 445 89 20% e =
WO S R4~R10 147 6 5 0 0.24] Z DA )i KR 49 129 26 20% B =)l
WO S R4~R10 147 6 6 0 0.14| D)~ KR 66 148 30 20% T =il
WO E R4~R10 147 6 7 0 0.28| ZD i)~ RKIR 49 129 26 20% TN =
WO S R4~R10 147 6 8 0 0.41| D)L KR 49 129 26 20% e =
DRSO S R4~R10 147 6 9 0 0.16] Z DA )i KK 49 129 26 20% T =)l
WO S R4~R10 147 6 10 0 0.05| D)~ KR 73 151 30 20% T =il
W OBRMAE R4~R10 147 6 11 0 0.05| ZD i)~ RKIR 73 151 30 20% e =
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WO S R4~R10 147 6 12 0 0.02| FDfh)x KIN 71 150 30 20% AR =
WIRDNO RS R4~R10 147 6 13 0 0.02 s AT 49 454 91 20% T =)l
WO ES |[RA~RI10 147 6 14 0 0.02 s AT 49 454 91 20% gl =Rl
WO E R4~R10 147 6 15 0 0.02 X AT 49 454 91 20% TR =
WO E  [RA~RI10 147 6 16 0 0.02 2X AT 49 454 91 20% B )1l
BIRDNO RS R4~R10 147 6 17 0 0.02 s AT 49 454 91 20% T =)l
WO ES  [RA~RIO0 147 6 18 0 0.01 A AT 53 484 97 20% BB =l
WA OEMIEE  [RA~RI0 147 6 25 1 0.04 2 AT 44 411 82 20% e =
WO S R4~R10 147 6 25 2 0.03 s AT 86 613 123 20% B =)l
BIRDNO RS R4~R10 147 6 26 0 0.18 AR AT 81 613 123 20% T )l
WO S R4~R10 147 6 28 0 0.4| =DM RKIR 71 150 30 20% e =
WO S R4~R10 147 6 30 0 0.11] Z DA )i PR/ 71 150 30 20% B =)l
WO S R4~R10 147 6 32 0 0.06 2X AT 42 392 78 20% B =)l
BIRDNO RS R4~R10 147 6 33 0 0.06 AR AT 42 392 78 20% T )l
WO S R4~R10 147 7 1 1 0.02 A AT 71 595 119 20% e =
WO S R4~R10 147 7 1 2 0.02| 7<= AT 71 484 97 20% B =)l
WO S R4~R10 147 7 2 1 0.04] Z DAt KR 76 152 30 20% il =)l
DR OEMALE R4~R10 147 7 2 2 0.04| ZD M)~ KR 73 151 30 20% RS )l
WO S R4~R10 147 7 4 0 0.05 X AT 73 604 121 20% AR =
WO S R4~R10 147 7 8 0 0.12 s AT 64 556 111 20% B =)l
WIRDNO RS R4~R10 147 7 9 0 0.05 AKX AT 64 556 111 20% T =)l
VA PY S Ry R4~R10 147 7 10 1 0.1| 7Hh=> AT 63 330 66 20% RS =Rl
WO S R4~R10 147 7 10 2 0.11 X AT 63 550 110 20% AR =
WO S R4~R10 147 7 11 1 0.1 s AT 56 506 101 20% B =)l
WIRDNO RS R4~R10 147 7 11 2 0.1 s AT 76 613 123 20% T =)l
VA PYSuS iRy R4~R10 147 7 12 1 0.06 AX AT 33 298 60 20% RS =)
WO E  [RA~RI10 147 7 12 2 0.06 2 AT 36 331 66 20% e =
WO E R4~R10 147 7 13 0 0.13 s AT 81 613 123 20% B =)l
BRI RS R4~R10 147 7 14 0 0.12 s AT 61 538 108 20% gl =il
WO S R4~R10 147 7 15 0 0.05 X AT 61 538 108 20% e =
WO S R4~R10 147 7 16 0 0.05 2X AT 61 538 108 20% B =)l
WO S R4~R10 147 7 17 0 0.37] Z DA )i KR 76 152 30 20% B =)l
BRI RS R4~R10 147 7 18 0 0.21| D) KR 386 152 30 20% T =il
WO S R4~R10 147 7 19 1 0.08 X AT 59 526 105 20% e =
WO S R4~R10 147 7 19 2 0.07 2X AT 72 599 120 20% B =)l
WO S R4~R10 147 7 20 0 0.14] Z DAt )i KR 76 152 30 20% T =)l
DR OEMALE R4~R10 147 7 21 1 0.09| DA KR 76 152 30 20% RS )l
W OBRMAE R4~R10 147 7 21 2 0.09 X AT 81 613 123 20% AR =
WO S R4~R10 147 7 23 1 0.14 s AT 53 484 97 20% B =)l
WO ES |[RA~RI10 147 7 23 2 0.14 s AT 71 595 119 20% el =Rl
VA PY S Ry R4~R10 147 7 26 0 0.13] Z DA )i RKIR 66 148 30 20% RS =)
WO MAE R4~R10 147 7 27 0 0.09| =D RKIR 66 148 30 20% AR =
WO S R4~R10 147 7 28 0 0.13] Z DA )i PR 66 148 30 20% B =)l
WO ES |[RA~RI10 147 7 29 0 0.14] Z DA )i KR 66 148 30 20% el =Rl
VA PY S iRy R4~R10 147 7 31 0 0.06 AX AT 49 454 91 20% RS =)
WO S R4~R10 147 7 32 0 0.56 A AT 49 454 91 20% AR =E
WO S R4~R10 147 7 33 0 0.14 s AT 49 454 91 20% B =)l
BIRDNO RS R4~R10 147 7 34 0 0.05 s AT 61 538 108 20% T =il
WO E R4~R10 147 7 36 0 0.05 X AT 61 538 108 20% TN =
WO S R4~R10 147 7 37 0 0.08 A AT 66 568 114 20% e =
DRSO S R4~R10 147 7 38 0 0.09 s AT 58 519 104 20% T =)l
BIRDNO RS R4~R10 147 7 39 1 0.3 AR AT 63 550 110 20% T =il
W OBRMAE R4~R10 147 7 39 2 0.04 X AT 50 462 92 20% e =
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WO E  [RA~RI10 147 7 39 3 0.01 2AX AT 50 462 92 20% B =0
WIRDNO RS R4~R10 147 7 39 4 0.06 AKX AT 50 462 92 20% T =)l
WO ES |[RA~RI10 147 7 39 5 0.01 AR AT 50 462 92 20% gl =Rl
WO E R4~R10 147 7 40 0 0.08 X AT 49 454 91 20% TR =
WO S R4~R10 147 7 42 0 0.09 AFE AT 76 613 123 20% e =
BIRDNO RS R4~R10 147 7 45 1 0.26 s AT 61 538 108 20% T =)l
VA PY uS R4~R10 147 7 45 2 0.11 A AL 66 568 114 20% RS =Rl
WA OEMIEE  [RA~RI0 147 7 46 0 0.05 2 AT 60 532 106 20% e =
WO S R4~R10 147 7 47 0 0.02 s AT 42 392 78 20% B =)l
BIRDNO RS R4~R10 147 7 48 0 0.02 AR AT 40 373 75 20% T )l
WO S R4~R10 147 7 50 0 0.03 X AT 40 373 75 20% e =
WO S R4~R10 147 7 51 0 0.06 2AX AT 40 373 75 20% B =)l
WO S R4~R10 147 7 52 0 0.03 2X AT 40 373 75 20% B =)l
WO S R4~R10 147 7 53 0 0.05 AR AT 40 373 75 20% T )l
WO S R4~R10 147 7 54 0 0.06 A AT 40 373 75 20% e =
WO S R4~R10 147 7 55 0 0.08 X AT 40 373 75 20% B =)l
WO S R4~R10 147 8 1 0 0.06 s AT 45 420 84 20% il =)l
WENDOEEMFES |[RA~RI10 147 8 2 0 0.35 AR AT 45 420 84 20% el =Rl
WO S R4~R10 147 8 3 0 0.09 X AT 45 420 84 20% AR =
WO S R4~R10 147 8 4 0 0.07 s AT 45 420 84 20% B =)l
WIRDNO RS R4~R10 147 8 5 0 0.06 AKX AT 45 420 84 20% T =)l
VA PY S Ry R4~R10 147 8 6 1 0.01 AX AT 45 420 84 20% RS =Bl
WO S R4~R10 147 8 6 2 0.04 X AT 53 484 97 20% AR =
WO S R4~R10 147 8 7 0 0.16 s AT 58 519 104 20% B =)l
WIRDNO RS R4~R10 147 8 12 0 0.05 AKX AT 53 484 97 20% T =)l
VA PYSuS iRy R4~R10 147 8 18 0 0.05 AX AT 63 550 110 20% RS =)
WO E  [RA~RI10 147 8 22 0 0.1 2 AT 54 492 98 20% e =
WO E R4~R10 147 8 23 0 0.05 s AT 54 492 98 20% B =)l
BRI RS R4~R10 147 8 25 0 0.04| DM~ KR 71 150 30 20% gl =il
WO S R4~R10 147 8 26 0 0.06 X AT 55 499 100 20% e =
WO S R4~R10 147 8 27 0 0.07]| Z DA )i KR 71 150 30 20% B =)l
WO S R4~R10 147 8 28 0 0.08 s AL 68 579 116 20% B =)l
BRI RS R4~R10 147 8 29 0 0.02 s AT 28 239 48 20% T =il
WO S R4~R10 147 8 30 0 0.02 X AT 28 239 48 20% e =
WO S R4~R10 147 8 31 0 0.02 2X AT 28 239 48 20% B =)l
WO S R4~R10 147 8 32 0 0.02 s AT 28 239 48 20% T =)l
BENDOFEMFES [RA~RI10 147 8 33 0 0.02 AR AT 28 239 48 20% BB =Rl
W OBRMAE R4~R10 147 8 34 0 0.01 X AT 28 239 48 20% AR =
WO S R4~R10 147 8 35 0 0.01 s AT 28 239 48 20% B =)l
WO ES |[RA~RI10 147 8 36 0 0.02 s AT 28 239 48 20% el =Rl
VA PY S Ry R4~R10 147 8 37 0 0.02 AX AT 28 239 48 20% RS =)
WO MAE R4~R10 147 8 38 0 0.02 X AT 28 239 48 20% AR =
WO S R4~R10 147 9 5 1 0.07 s AT 68 579 116 20% B =)l
WO ES |[RA~RI10 147 9 5 2 0.07 s AT 58 519 104 20% el =Rl
VA PY S iRy R4~R10 147 9 6 1 0.04] Z DA )i AL 101 152 30 20% RS =)
WO E  [RA~RI10 147 9 6 2 0.04 2X AT 66 568 114 20% e Bl
WO S R4~R10 147 9 9 0 0.04 s AT 68 579 116 20% B =)l
BIRDNO RS R4~R10 147 9 10 0 0.01 s AT 68 579 116 20% T =il
WO E R4~R10 147 9 11 0 0.06 X AT 61 538 108 20% TN =
WO S R4~R10 147 9 14 0 0.08 A AT 59 526 105 20% e =
DRSO S R4~R10 147 9 15 0 0.06 s AT 59 526 105 20% T =)l
BIRDNO RS R4~R10 147 9 16 0 0.15 AR AT 59 526 105 20% T =il
W OBRMAE R4~R10 147 9 17 0 0.04 X AT 54 492 98 20% e =
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WO E  [RA~RI10 147 9 18 0 0.12 2AX AT 48 445 89 20% B =0
WIRDNO RS R4~R10 147 9 19 0 0.42 s AT 48 445 89 20% T =)l
WO ES |[RA~RI10 147 9 20 0 0.08] H7~<Y AT 76 504 101 20% gl =Rl
WO E R4~R10 147 9 21 0 0.06 X AT 48 445 89 20% TR =
WO E  [RA~RI10 147 9 23 0 0.02 2X AT 48 445 89 20% B )1l
BIRDNO RS R4~R10 147 9 24 0 0.02 s AT 48 445 89 20% T =)l
VA PY uS R4~R10 147 9 26 0 0.02| AN7AH | HENT A 0 20% BB =l
WA OEMIEE  [RA~RI0 147 9 27 0 0.08 2 AT 48 445 89 20% e =
WO S R4~R10 147 9 29 0 0.12] Z DA )i ERS 76 152 30 20% B =)l
WO S R4~R10 147 9 30 0 0.06 AR AT 61 538 108 20% T )l
WO S R4~R10 147 9 33 0 0.11 X AT 64 556 111 20% e =
WO S R4~R10 147 9 34 0 0.05 2AX AT 66 568 114 20% B =)l
WO S R4~R10 147 9 35 0 0.05 2X AT 64 556 111 20% B =)l
WO S R4~R10 147 9 36 0 0.13] Z DA )i KR 66 148 30 20% T )l
WO S R4~R10 147 9 37 0 0.06 A AT 60 532 106 20% e =
WO S R4~R10 147 9 40 1 0.12] Z DA )i PR/ 61 144 29 20% B =)l
WO S R4~R10 147 9 40 2 0.2| ZOHJE KR 76 152 30 20% il =)l
DR OEMALE R4~R10 147 9 40 3 0.44| Z D)~ KR 61 144 29 20% RS )l
WO S R4~R10 147 9 41 0 0.04] A:NEAHE | N7 A HE 0 20% AR =
WO S R4~R10 147 9 44 0 0.07 s AT 56 506 101 20% B =)l
WO S R4~R10 147 9 45 0 0.05 AKX AT 63 550 110 20% T =)l
VA PY S Ry R4~R10 147 9 46 0 0.14] Z DA )1 RIR 66 148 30 20% RS =)
WO S R4~R10 147 9 47 0 0.02 X AT 60 532 106 20% AR =
WO S R4~R10 147 9 48 0 0.02 s AT 60 532 106 20% B =)l
WIRDNO RS R4~R10 147 9 49 1 0.04 s AT 76 613 123 20% T =)l
VA PYSuS iRy R4~R10 147 9 49 2 0.04 AX AT 58 519 104 20% RS =)
WO E  [RA~RI10 147 9 52 0 0.12 2 AT 66 568 114 20% e =
WO E R4~R10 147 9 55 0 0.02] ZDfh )i KR 61 144 29 20% B =)l
BRI RS R4~R10 147 9 56 0 0.02| D)~ KR 61 144 29 20% gl =il
WO S R4~R10 147 9 58 1 0.09 X AT 60 532 106 20% e =
WO S R4~R10 147 9 58 2 0.09 2X AT 66 568 114 20% B =)l
WO S R4~R10 147 9 59 0 0.04 s AL 71 595 119 20% B =)l
WA DOEEMAAD R4~R10 147 9 60 0 0.11 s AL 66 568 114 20% T )l
WO S R4~R10 147 9 62 0 0.11 X AT 48 445 89 20% e =
WO S R4~R10 147 9 63 0 0.04 2X AT 60 532 106 20% B =)l
WO S R4~R10 147 9 64 0 0.03 s AT 60 532 106 20% T =)l
MBS R4~R10 147 9 65 0 0.14 AX AT 48 445 89 20% RS =M
W OBRMAE R4~R10 147 9 66 0 0.38 X AT 48 445 89 20% AR =
WO S R4~R10 147 9 74 0 0.04 s AT 48 445 89 20% B =)l
WO ES |[RA~RI10 147 9 75 0 0.04 s AT 48 445 89 20% el =Rl
VA PY S Ry R4~R10 147 9 76 0 0.04 AX AT 48 445 89 20% RS =)
WO MAE R4~R10 147 9 77 0 0.01 X AT 60 532 106 20% AR =
WO S R4~R10 147 9 78 0 0.01 s AT 60 532 106 20% B =)l
WO ES |[RA~RI10 147 9 79 0 0.01 s AT 60 532 106 20% el =Rl
VA PY S iRy R4~R10 147 9 80 0 0.05 AX AT 60 532 106 20% RS =)
WO E  [RA~RI10 147 9 84 0 0.04 2X AT 60 532 106 20% e =
WO S R4~R10 147 9 85 0 0.03 s AT 60 532 106 20% B =)l
BIRDNO RS R4~R10 147 9 36 0 0.04 s AT 60 532 106 20% T =il
WO E R4~R10 147 9 91 0 0.01 X AT 60 532 106 20% TN =
WO E  [RA~RI10 147 9 92 0 0.03 2X AT 60 532 106 20% B =0
DRSO S R4~R10 147 9 94 0 0.01 s AT 60 532 106 20% T =)l
BIRDNO RS R4~R10 147 9 95 0 0.01 ) AT 44 205 41 20% T =il
W OBRMAE R4~R10 147 9 96 0 0.01 X1 AT 44 205 41 20% e =
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WO S R4~R10 147 9 97 0 0.01 X AT 44 205 41 20% AR =
WIRDNO RS R4~R10 147 9 98 0 0.01 * AT 44 205 41 20% T =)l
WO ES |[RA~RI10 147 9 99 0 0.01 ) AT 44 205 41 20% gl =Rl
WO E R4~R10 147 9 100 0 0.09 X AT 39 362 72 20% TR =
WO E  [RA~RI10 147 9 101 0 0.08 2X AT 39 362 72 20% B )1l
WO S R4~R10 147 10 3 0 0.04] AR STAH | 4 N7 A B 0 20% T =)l
VA PY uS R4~R10 147 10 8 1 0.04 A AL 58 519 104 20% RS =Rl
WA OEMIEE  [RA~RI0 147 10 8 2 0.04 2 AT 60 532 106 20% e =
WO S R4~R10 147 10 9 0 0.04 s AT 60 532 106 20% B =)l
BIRDNO RS R4~R10 147 10 10 0 0.04 AR AT 58 519 104 20% T )l
WO S R4~R10 147 10 11 0 0.01 X AT 58 519 104 20% e =
WO S R4~R10 147 10 12 0 0.03 2AX AT 58 519 104 20% B =)l
WO S R4~R10 147 10 13 0 0.01 2X AT 58 519 104 20% B =)l
BIRDNO RS R4~R10 147 10 14 0 0.04 AR AT 58 519 104 20% T )l
WO S R4~R10 147 10 15 0 0.01 A AT 60 532 106 20% e =
WO S R4~R10 147 10 16 0 0.08] Z DA )ix PR/ 61 144 29 20% B =)l
WO S R4~R10 147 10 17 0 0.01 s AT 60 532 106 20% il =)l
WENDOEEMFES |[RA~RI10 147 10 19 0 0.02 AR AT 49 454 91 20% el =Rl
WO S R4~R10 147 10 20 0 0.01 X AT 49 454 91 20% AR =
WO S R4~R10 147 10 21 0 0.03 s AT 49 454 91 20% B =)l
WIRDNO RS R4~R10 147 10 22 0 0.01 s AT 49 454 91 20% T =)l
VA PY S Ry R4~R10 147 10 23 0 0.01 AX AT 49 454 91 20% RS =Bl
WO S R4~R10 147 10 24 0 0.01 X AT 49 454 91 20% AR =
WO S R4~R10 147 10 25 0 0.04 s AT 49 454 91 20% B =)l
WIRDNO RS R4~R10 147 10 26 0 0.06 AKX AT 49 454 91 20% T =)l
VA PYSuS iRy R4~R10 147 10 27 0 0.04 AX AT 49 454 91 20% RS =)
WO E  [RA~RI10 147 10 29 0 0.01 2 AT 49 454 91 20% e =
WO E R4~R10 147 10 30 0 0.04 s AT 49 454 91 20% B =)l
BRI RS R4~R10 147 10 31 0 0.03 s AT 49 454 91 20% gl =il
WO S R4~R10 147 10 32 0 0.01 X AT 49 454 91 20% e =
WO S R4~R10 147 10 34 0 0.01 2X AT 49 454 91 20% B =)l
WO S R4~R10 147 10 35 1 0.01 s AL 31 275 55 20% B =)l
BRI RS R4~R10 147 10 35 2 0.02 s AT 49 454 91 20% T =il
WO S R4~R10 147 10 36 0 0.04 X AT 49 454 91 20% e =
WO S R4~R10 147 10 37 0 0.03 2X AT 49 454 91 20% B =)l
WO S R4~R10 147 10 38 0 0.03 s AT 49 454 91 20% T =)l
BENDOFEMFES [RA~RI10 147 10 39 0 0.01 AR AT 49 454 91 20% BB =Rl
W OBRMAE R4~R10 147 10 40 0 0.01 X AT 49 454 91 20% AR =
WO S R4~R10 147 10 41 0 0.01 s AT 49 454 91 20% B =)l
WO ES |[RA~RI10 147 10 42 0 0.01 s AT 49 454 91 20% el =Rl
VA PY S Ry R4~R10 147 10 43 0 0.03 AF AT 49 454 91 20% RS =)
WO MAE R4~R10 147 10 44 0 0.04 X AT 49 454 91 20% AR =
WO S R4~R10 147 10 45 0 0.02 s AT 60 532 106 20% B =)l
WP OIS R4~R10 147 10 56 0 0.05| ARS7ACH | HEST A H 0 0 0 20% RS =il
VA PY S iRy R4~R10 147 10 57 0 0.06| AS7AH | HENT A 0 0 0 20% RS =)
WO S R4~R10 147 10 58 0 0.01 A AT 42 392 78 20% AR =E
WO S R4~R10 147 10 59 0 0.05 s AT 42 392 78 20% B =)l
BIRDNO RS R4~R10 147 10 60 0 0.01 s AT 42 392 78 20% T =il
WO E R4~R10 149 1 1 0 0.04 X AT 66 568 114 20% TN =
WO S R4~R10 149 1 2 0 0.03| FDfh)x RKIK 71 150 30 20% e =
DRSO S R4~R10 149 1 3 0 0.04 s AT 58 519 104 20% T =)l
BIRDNO RS R4~R10 149 1 5 0 0.01 AR AT 54 492 98 20% T =il
W OBRMAE R4~R10 149 1 6 0 0.03 X AT 58 519 104 20% e =
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WO S R4~R10 149 1 7 0 0.01| ASEAH | ST A 0 0 0 20% B =
WO S R4~R10 149 1 8 0 0.01] ARSTAH | 4 N7 A B 0 0 0 20% T =)l
WO ES |[RA~RI10 149 1 9 0 0.03 AR AT 56 506 101 20% gl =Rl
WO E R4~R10 149 1 10 0 0.09] A NEAH | N7 A H 0 0 0 20% TR =
WO S R4~R10 149 1 20 0 0.04| FDHh)x RKIK 71 150 30 20% e =
WO S R4~R10 149 1 22 0 0.2 ARSTAH | MEST A 0 0 0 20% T =)l
WO ES  [RA~RIO0 149 1 24 0 0.03 A AT 65 562 112 20% BB =l
WA OEMIEE  [RA~RI0 149 1 25 0 0.03 2 AT 65 562 112 20% e =
WO S R4~R10 149 1 26 0 0.14| A:SEAH | FEST A M 0 0 0 20% B =)l
WO S R4~R10 149 1 27 0 0.08| ARS7AH | HEST A 0 0 0 20% T )l
WO S R4~R10 149 1 35 0 0.47| ZDHhA RKIR 86 152 30 20% e =
WO S R4~R10 149 1 36 0 0.24] Z DA )i PR/ 86 152 30 20% B =)l
WO S R4~R10 149 1 37 0 0.53] Z DA )i ERAS 86 152 30 20% B =)l
BIRDNO RS R4~R10 149 1 38 0 0.11] Z DA )i KR 386 152 30 20% T )l
WO S R4~R10 149 1 39 0 0.11| =Dt RKIR 86 152 30 20% e =
WO S R4~R10 149 1 40 0 0.15] Z DA )i PR/ 86 152 30 20% B =)l
WO S R4~R10 149 1 41 0 0.06] DAt KR 86 152 30 20% il =)l
VA Pr S R R4~R10 149 1 42 0 0.03]| =D BRS 86 152 30 20% RS =l
WO S R4~R10 149 1 43 0 0.1| DA RKIR 86 152 30 20% AR =
WO S R4~R10 149 1 44 0 0.08] Z DA )i PR 86 152 30 20% B =)l
WIRDNO RS R4~R10 149 1 47 1 0.18 s AT 66 568 114 20% T =)l
VA PY S Ry R4~R10 149 1 47 2 0.18 A AT 72 599 120 20% RS =Rl
WO S R4~R10 149 1 48 0 0.1 X AT 66 568 114 20% AR =
WO S R4~R10 149 1 49 0 0.06 s AT 71 595 119 20% B =)l
WO S R4~R10 149 1 50 0 0.39| D) KR 76 152 30 20% T =)l
VA PYSuS iRy R4~R10 149 1 51 1 0.05] Z DA )i RIR 71 150 30 20% RS =il
WO E  [RA~RI10 149 1 51 2 0.06 2 AT 66 568 114 20% e =
WO E R4~R10 149 1 52 1 0.05] Z DA )i KR 71 150 30 20% B =)l
BRI RS R4~R10 149 1 52 2 0.04 s AT 58 519 104 20% gl =il
WO S R4~R10 149 1 53 0 0.13 X AT 66 568 114 20% e =
WO S R4~R10 149 1 54 0 0.13 2X AT 66 568 114 20% B =)l
WO S R4~R10 149 1 56 0 0.14 s AL 61 538 108 20% B =)l
BRI RS R4~R10 149 1 57 0 0.23 s AT 73 604 121 20% T =il
WO S R4~R10 149 1 58 0 0.12| DA RKIR 76 152 30 20% e =
WO S R4~R10 149 1 59 0 0.1 2X AT 71 595 119 20% B =)l
WO S R4~R10 149 1 62 0 0.05 s AT 61 538 108 20% T =)l
Wi bimksis  [Ra~R10 149 1 63 0 0.05 AX AT 62 544 109 20% B )l
W OBRMAE R4~R10 149 1 64 1 0.01| 7= AT 71 484 97 20% T EN
WO S R4~R10 149 1 64 2 0.01] 7Hh~=> PR 71 362 72 20% B =)l
WO ES |[RA~RI10 149 1 66 0 0.13 s AT 56 506 101 20% el =Rl
VA PY S Ry R4~R10 149 1 68 0 0.02 AX AT 56 506 101 20% RS =)
WO MAE R4~R10 149 1 69 0 0.03 X AT 53 484 97 20% AR =
WO S R4~R10 149 1 71 0 0.21 s AT 76 613 123 20% B =)l
DR OHRMNAE R4~R10 149 1 72 0 0.1 A AT 71 595 119 20% RS Ll
VA PY S iRy R4~R10 149 1 92 0 0.03 AF AT 49 454 91 20% RS =)
WO E  [RA~RI10 149 1 93 0 0.01 2X AT 49 454 91 20% e Bl
WO S R4~R10 149 1 94 0 0.02 s AT 49 454 91 20% B =)l
BIRDNO RS R4~R10 149 1 95 0 0.03 s AT 49 454 91 20% T =il
WO E R4~R10 149 1 96 0 0.11 X AT 49 454 91 20% TN =
WO E  [RA~RI10 149 1 97 0 0.16 2 AT 49 454 91 20% B =0
DRSO S R4~R10 149 1 98 0 0.09 s AT 49 454 91 20% T =)l
BIRDNO RS R4~R10 149 1 99 0 0.07 AR AT 49 454 91 20% T =il
W OBRMAE R4~R10 149 1 100 0 0.06 X AT 49 454 91 20% e =
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WO E  [RA~RI10 149 1 101 0 0.13 2AX AT 49 454 91 20% B =0
WIRDNO RS R4~R10 149 1 102 0 0.05 AKX AT 49 454 91 20% T =)l
WO ES |[RA~RI10 149 1 103 0 0.05 AR AT 49 454 91 20% gl =Rl
WO E R4~R10 149 1 104 0 0.05 X AT 49 454 91 20% TR =
WO E  [RA~RI10 149 1 107 0 0.01 2X AT 49 454 91 20% B )1l
BIRDNO RS R4~R10 149 1 108 0 0.03 AKX AT 49 454 91 20% T =)l
WO ES  [RA~RIO0 149 1 110 0 0.03 A AT 49 454 91 20% BB =l
WO S R4~R10 149 1 111 0 0.01 X AT 49 454 91 20% AR =
WO S R4~R10 149 1 112 0 0.01 s AT 49 454 91 20% B =)l
BIRDNO RS R4~R10 149 2 1 1 0.04 s AT 64 556 111 20% T )l
WO S R4~R10 149 2 1 2 0.04 X AT 66 568 114 20% e =
WO S R4~R10 149 2 2 1 0.09 2AX AT 71 595 119 20% B =)l
WO S R4~R10 149 2 2 2 0.08 2X AT 56 506 101 20% B =)l
BIRDNO RS R4~R10 149 2 3 0 0.08 AR AT 56 506 101 20% T )l
WO S R4~R10 149 2 4 1 0.08 A AT 55 499 100 20% e =
WO S R4~R10 149 2 4 2 0.08 X AT 66 568 114 20% B =)l
WO S R4~R10 149 2 5 0 0.09 s AT 66 568 114 20% il =)l
WS [RA~R10 149 2 6 0 0.09 AR AT 61 538 108 20% el =Rl
WO S R4~R10 149 2 7 0 0.13 X AT 61 538 108 20% AR =
WO S R4~R10 149 2 8 0 0.2 s AT 42 392 78 20% B =)l
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WO E  [RA~RI10 149 2 52 0 0.05 2X AT 37 342 68 20% B =0
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W OBRMAE R4~R10 149 2 62 0 0.64 X AT 37 342 68 20% e =
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WO S R4~R10 149 3 1 0 0.11| FDH)x KIN 71 150 30 20% AR =
WO S R4~R10 149 4 1 0 0.04] AR STAH | 4 N7 A B 0 0 0 20% T =)l
WO ES |[RA~RI10 149 4 2 0 0.03 AR AT 34 309 62 20% gl =Rl
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WO S R4~R10 149 4 11 1 0.1 2AX AT 53 484 97 20% B =)l
WO S R4~R10 149 4 11 2 0.1| ZofhJE ERAS 86 152 30 20% B =)l
BRSO RIS R4~R10 149 4 13 0 0.11 AR AL 56 506 101 20% T =)l
WO S R4~R10 149 4 14 0 0.03 A AT 56 506 101 20% e =
WO S R4~R10 149 4 15 0 0.04] Z DA )i PR/ 86 152 30 20% B =)l
WO S R4~R10 149 4 16 1 0.04 s AT 61 538 108 20% il =)l
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WO S R4~R10 149 4 18 1 0.02 s AT 61 538 108 20% B =)l
WIRDNO RS R4~R10 149 4 18 2 0.07 s AT 71 595 119 20% T =)l
VA PY S Ry R4~R10 149 4 19 0 0.01 AX AT 61 538 108 20% RS =Bl
WO S R4~R10 149 4 20 0 0.04 X AT 76 613 123 20% AR =
WO S R4~R10 149 4 22 0 0.07 s AT 59 526 105 20% B =)l
WIRDNO RS R4~R10 149 4 25 0 0.15 s AT 66 568 114 20% T =)l
VA PYSuS iRy R4~R10 149 4 26 0 0.09 AX AT 61 538 108 20% RS =)
WO E  [RA~RI10 149 4 27 0 0.1 2 AT 86 613 123 20% e =
WO E R4~R10 149 4 28 0 0.06 s AT 66 568 114 20% B =)l
BRI RS R4~R10 149 4 29 0 0.08 s AT 40 373 75 20% gl =il
WO S R4~R10 149 4 30 0 0.1 X AT 73 604 121 20% e =
WO S R4~R10 149 4 31 0 0.11 2X AT 71 595 119 20% B =)l
WO S R4~R10 149 4 32 0 0.08 s AL 61 538 108 20% B =)l
DR OEMAL S R4~R10 149 4 33 0 0.07| DA KR 71 150 30 20% T =il
WO S R4~R10 149 4 34 0 0.35| DA RKIR 86 152 30 20% e =
WO S R4~R10 149 4 35 0 0.17] Z DA )i KR 81 152 30 20% B =)l
WO S R4~R10 149 4 37 2 0.03] Z DAt KR 76 152 30 20% T =)l
DR OEMALE R4~R10 149 4 39 1 0.04| DA KR 71 150 30 20% RS )l
W OBRMAE R4~R10 149 4 39 2 0.05 X AT 64 556 111 20% AR =
WO S R4~R10 149 4 42 0 0.13] Z DA )i PR 76 152 30 20% B =)l
DR OHRMAE R4~R10 149 4 43 0 0.05| =D RKIK 81 152 30 20% RS Ll
VA PY S Ry R4~R10 149 4 44 0 0.07 AX AT 66 568 114 20% RS =)
WO MAE R4~R10 149 4 45 0 0.06 X AT 73 604 121 20% AR =
WO S R4~R10 149 4 46 0 0.12 s AT 66 568 114 20% B =)l
WO ES |[RA~RI10 149 4 47 0 0.1 s AT 66 568 114 20% el =Rl
VA PY S iRy R4~R10 149 4 48 0 0.1 AX AT 68 579 116 20% RS =)
WO E  [RA~RI10 149 4 49 0 0.09 2X AT 68 579 116 20% e =
WO S R4~R10 149 4 50 0 0.07| Z DA )i KR 66 148 30 20% B =)l
BIRDNO RS R4~R10 149 4 51 1 0.02 s AT 386 613 123 20% T =il
WO E R4~R10 149 4 51 2 0.02| ZDfh)nA RKIR 71 150 30 20% TN =
WO E  [RA~RI10 149 4 52 1 0.03 2X AT 81 613 123 20% B =0
DRSO S R4~R10 149 4 52 2 0.03] Z DA )i KK 71 150 30 20% T =)l
WO S R4~R10 149 4 53 0 0.35| D)~ KR 71 150 30 20% T =il
W OBRMAE R4~R10 149 4 56 0 0.12| DA RKIR 73 151 30 20% e =
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WO S R4~R10 149 4 59 0 0.68| D fh)x~ KIN 81 152 30 20% AR =
WO S R4~R10 149 4 60 0 0.09| D) KR 63 145 29 20% T =)l
WO ES |[RA~RI10 149 4 61 0 0.29 AR AT 73 604 121 20% B =Rl
WO E R4~R10 149 4 62 0 0.36] DA RKIR 66 148 30 20% TR =
WO S R4~R10 149 4 63 1 0.05| FDfh)x RKIK 71 150 30 20% e =
BIRDNO RS R4~R10 149 4 63 2 0.05 AKX AT 53 484 97 20% T =)l
RO [R4~RI0 149 4 64 1 0.14 AX AL 71 595 119 20% TR all
WA OEMIEE  [RA~RI0 149 4 64 2 0.2 2 AT 56 506 101 20% e =
WO S R4~R10 149 4 65 0 0.1 s AT 61 538 108 20% B =)l
BIRDNO RS R4~R10 149 4 67 0 0.03 AR AT 53 484 97 20% T )l
WO S R4~R10 149 4 68 0 0.04 X AT 53 484 97 20% e =
WO S R4~R10 149 4 70 0 0.14 2AX AT 58 519 104 20% B =)l
WO S R4~R10 149 4 71 0 0.01 2X AT 46 428 86 20% B =)l
BIRDNO RS R4~R10 149 4 74 0 0.04 AR AT 34 309 62 20% T )l
WO S R4~R10 149 4 75 0 0.04 A AT 34 309 62 20% e =
WO S R4~R10 149 4 76 0 0.04 X AT 34 309 62 20% B =)l
WO S R4~R10 149 4 77 0 0.07 s AT 34 309 62 20% il =)l
WENDOEEMFES |[RA~RI10 149 4 78 0 0.04 AR AT 34 309 62 20% el =Rl
WO S R4~R10 149 4 79 0 0.04 X AT 34 309 62 20% AR =
WO S R4~R10 149 4 80 0 0.04 s AT 34 309 62 20% B =)l
WIRDNO RS R4~R10 149 4 81 0 0.04 s AT 34 309 62 20% T =)l
VA PY S Ry R4~R10 149 4 82 0 0.1 AX AT 23 178 36 20% RS =Bl
WO S R4~R10 149 4 901 0 0.02 X AT 40 373 75 20% AR =
WO S R4~R10 149 4 902 0 0.02 s AT 40 373 75 20% B =)l
WO S R4~R10 149 4 903 0 0 AKX AT 63 550 110 20% T =)l
VA PYSuS iRy R4~R10 149 4 904 0 0.06 AX AT 63 550 110 20% RS =)
WO E  [RA~RI10 149 4 905 0 0.02 2 AT 63 550 110 20% e =
WO E R4~R10 149 5 1 0 0.08| A SEAH | ST A 0 0 0 20% B =)l
DR OEMAL S R4~R10 149 5 6 0 0.05] Z DA )i KR 76 152 30 20% gl =il
WO S R4~R10 149 5 7 0 0.1 X AT 60 532 106 20% e =
WO S R4~R10 149 5 9 0 0.06] Z DA )i KR 76 152 30 20% B =)l
WO S R4~R10 149 5 10 0 0.07| Z DA )i KR 76 152 30 20% B =)l
BRI RS R4~R10 149 5 11 0 0.07 s AT 71 595 119 20% T =il
WO S R4~R10 149 5 12 0 0.04 X AT 71 595 119 20% e =
WO S R4~R10 149 5 13 0 0.05 2X AT 56 506 101 20% B =)l
WO S R4~R10 149 5 14 0 0.24 s AT 76 613 123 20% T =)l
VA PY S Ry R4~R10 149 5 19 0 0.03 AR AT 56 506 101 20% RS A
W OBRMAE R4~R10 149 5 20 0 0.09 A AT 71 595 119 20% TR &
WO S R4~R10 149 5 21 0 0.02| ZofhJE KR 66 148 30 20% s TA
WO ES |[RA~RI10 149 5 22 0 0.08 s AT 56 506 101 20% BB A
VA PY S Ry R4~R10 149 5 25 0 0.05 AX AT 86 613 123 20% R A
WO MAE R4~R10 149 5 26 0 0.03]| =D RKIR 51 132 26 20% AR =
WO S R4~R10 149 5 27 0 0.02] ZDfh )i PR 51 132 26 20% B =)l
WO ES |[RA~RI10 149 5 28 0 0.06 s AT 49 454 91 20% el =Rl
VA PY S iRy R4~R10 149 5 29 0 0.04 AX AT 49 454 91 20% RS =)
WO E  [RA~RI10 149 5 30 0 0.08 2X AT 49 454 91 20% e Bl
WO S R4~R10 149 5 31 0 0.04 s AT 49 454 91 20% B =)l
BIRDNO RS R4~R10 149 5 32 0 0.07 s AT 49 454 91 20% T =il
WO E R4~R10 149 5 33 0 0.08 X AT 49 454 91 20% TN =
WO S R4~R10 149 5 34 0 0.03 A AT 49 454 91 20% e =
DRSO S R4~R10 149 5 35 0 0.06 s AT 49 454 91 20% T =)l
BIRDNO RS R4~R10 149 5 36 0 0.03 AR AT 49 454 91 20% T =il
W OBRMAE R4~R10 149 5 37 0 0.02 X AT 49 454 91 20% e =
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WIRNDOHEMIE  |R4~R10 150 1 54 0 0.05 A AT 49 454 . 205) Eg?ﬁﬁ £
S DAbLE  [RA~R10 150 1 55 ) T S 19 154 5 205’ PR =)l
BRIRBOFEMAEE  |RA~RI10 150 1 56 0 0.04 X AL 49 454 . 200/0 i =21
WRNOHEMAMEE  [R4A~RIO0 150 1 57 0 0.03 2 AT 49 454 - 200/0 E'%“%ELB a)l
LR OIRMES  [R4~RI10 150 1 58 0 0.05 s AT 49 454 - 205) Eg?ﬁﬁ el
S DAbLE  [RA~R10 150 1 59 o o002 x| AT 19 154 5 205’ P =)l
BRI FMAEE  |R4A~RI10 150 1 60 0 0.38 AX AL 49 454 . 200/0 i =21
DR DOHEMME  |R4~RI10 150 1 61 0 0.04 2 AT 49 154 - 200/0 E'%“%ELB B
WIRBOFMMEA  [RA~RI10 150 1 62 0 0.05 AX AL 49 454 > 200@ ﬁ%ﬁﬁ £
WSO S [RA~RI0 150 1 63 0 0.02 AX AL 49 454 . 205) i Bl
e BNOFRMAS  |RA~RI10 150 1 64 0 0.1 AX AL 49 454 - 200/0 i =21
B SDEAAI S [RA~RIO 150 1 65 0 01 A% AT 19 154 o o i =21
W OFMAA  [RA~RI0 150 1 901 0 0.02 AX AL 60 532 191 20? %‘%ﬁﬁ B/
WIRPOHRMM S |RA~RI0 150 1 902 0 0.03 AX AT 79 613 % 205) i =21
e BNOFRMAS  |RA~RI10 150 1 903 0 0.01 AX AL 76 613 2 200/0 i =21
WRNOHEMMEE  [R4A~RIO0 150 1 904 0 0.02 A AT 76 613 2 200/0 E%ﬁﬁ el
WO S [RA~RI0 150 1 905 0 0.02 A AT 79 613 12 20? %‘%ﬁﬁ Bl
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WO E  [RA~RI10 150 2 6 3 0.09 2AX AT 76 613 123 20% B =0
WIRDNO RS R4~R10 150 2 9 0 0.1 s AT 45 420 84 20% T =
WO ES |[RA~RI10 150 2 10 0 0.07 AR AT 76 613 123 20% gl =)l
WO E R4~R10 150 2 11 0 0.08 X AT 73 604 121 20% TR =
WO E  [RA~RI10 150 2 12 0 0.1 2X AT 48 445 89 20% B )1l
WO S R4~R10 150 2 13 0 0.03 AKX AT 56 506 101 20% T =)l
WO E  [RA~RI0 150 2 14 0 0.04 A AT 48 445 89 20% BB =l
WA OEMIEE  [RA~RI0 150 2 15 0 0.04 2 AT 58 519 104 20% e =
WO S R4~R10 150 2 16 0 0.19 s AT 61 538 108 20% B =)l
WD BEMAAE R4~R10 150 2 17 1 0.2 AR AT 58 519 104 20% T =N
WO S R4~R10 150 2 17 2 0.02 X AT 76 613 123 20% e =
WO E  [RA~RI10 150 2 18 0 0.06 2AX AT 66 568 114 20% B =0
WO S R4~R10 150 2 19 0 0.08 2X AT 66 568 114 20% B =)l
BRSO RIS R4~R10 150 2 20 0 0.13 AR AT 68 579 116 20% T =)l
WO S R4~R10 150 2 21 0 0.05 A AT 66 568 114 20% e =
WO E  [RA~RI10 150 2 22 0 0.04 X AT 66 568 114 20% B =0
WO S R4~R10 150 2 23 0 0.07 s AT 79 613 123 20% il =)l
WENDOEEMFES |[RA~RI10 150 2 24 0 0.08 AR AT 61 538 108 20% el =)l
WO S R4~R10 150 2 25 1 0.16 X AT 49 454 91 20% AR =
WO S R4~R10 150 2 25 2 0.16 A AT 49 454 91 20% AR =
WIRDNO RS R4~R10 150 2 25 3 0.16 s AT 49 454 91 20% T =
VA PY S Ry R4~R10 150 2 26 0 0.11 AX AT 26 215 43 20% RS =Bl
WO S R4~R10 150 2 901 0 0.06 X AT 81 613 123 20% AR =
WO S R4~R10 150 2 902 0 0.01 A AT 71 595 119 20% AR =
WO S R4~R10 150 2 903 0 0.03 AKX AT 54 492 98 20% T =)l
VA PYSuS iRy R4~R10 150 2 904 0 0.01 AX AT 54 492 98 20% RS =)
WO E  [RA~RI10 150 2 905 0 0.15 2 AT 26 215 43 20% e =
WO E R4~R10 150 3 1 0 0.19 s AT 79 613 123 20% B =)l
WD RS R4~R10 150 3 3 0 0.11 s AL 79 613 123 20% gl )l
WO S R4~R10 150 3 4 0 0.17 X AT 79 613 123 20% e =
WO S R4~R10 150 3 5 0 0.24 A AT 79 613 123 20% AR =
WO S R4~R10 150 3 6 0 0.08 s AL 64 556 111 20% B =)l
DR OEMAL S R4~R10 150 3 8 0 0.09 s AT 56 506 101 20% T )l
WO S R4~R10 150 3 9 0 0.09 X AT 76 613 123 20% e =
WA OEMIEE  [RA~RI10 150 3 10 0 0.14 2X AT 48 445 89 20% B =
WO S R4~R10 150 3 11 0 0.01 s AT 56 506 101 20% T =)l
BENDOFEMFES [RA~RI10 150 3 12 0 0.03 AR AT 56 506 101 20% BB =)l
W OBRMAE R4~R10 150 3 13 0 0.01 X AT 79 613 123 20% AR =
WO S R4~R10 150 3 14 0 0.19 A AT 79 613 123 20% AR =
WO ES |[RA~RI10 150 3 15 0 0.05 s AT 76 613 123 20% el =
VA PY S Ry R4~R10 150 3 16 0 0.21 AX AT 63 550 110 20% RS =)
WO MAE R4~R10 150 3 17 0 0.08 X AT 63 550 110 20% AR =
WO S R4~R10 150 3 18 0 0.1 AFE AT 79 613 123 20% T =
BIRDNO RS R4~R10 150 3 19 1 0.04 AX AT 76 613 123 20% RS ER
VA PY S iRy R4~R10 150 3 19 2 0.04 AX AT 58 519 104 20% RS =)
WO E  [RA~RI10 150 3 20 0 0.35 2X AT 66 568 114 20% e =
WO S R4~R10 150 3 21 0 0.04 s AT 66 568 114 20% B =)l
WA DOBEMAAD R4~R10 150 3 22 0 0.09 s AT 66 568 114 20% T )l
WO E R4~R10 150 3 23 0 0.16 X AT 58 519 104 20% TN =
WO S R4~R10 150 3 25 0 0.08 A AT 61 538 108 20% e =
DRSO S R4~R10 150 3 26 0 0.05 s AT 60 532 106 20% T =)l
WO S R4~R10 150 3 27 0 0.05 AR AT 60 532 106 20% T )l
W OBRMAE R4~R10 150 3 28 0 0.06 X AT 64 556 111 20% e =
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WO E  [RA~RI10 150 3 29 1 0.13 2AX AT 53 484 97 20% B =0
WIRDNO RS R4~R10 150 3 29 2 0.01 s AT 56 506 101 20% T =)l
DRSO S R4~R10 150 3 30 0 0.04 AR AT 53 484 97 20% RS )l
WO E R4~R10 150 3 31 0 0.07 X AT 55 499 100 20% TR =
WO S R4~R10 150 3 32 0 0.05 AFE AT 59 526 105 20% e =
BIRDNO RS R4~R10 150 3 35 0 0.11 s AT 11 37 7 20% T =)l
WA OEMIEE  [RA~RI0 150 3 36 1 0.3 A AT 61 538 108 20% BB =l
WA OEMIEE  [RA~RI0 150 3 37 0 0.05 2 AT 76 613 123 20% e =
WO S R4~R10 150 3 38 1 1.2 s AT 76 613 123 20% B =)l
WD BEMAAE R4~R10 150 3 38 2 0.11 AR AT 76 613 123 20% T =N
WO S R4~R10 150 3 39 0 0.05 X AT 63 550 110 20% e =
WO S R4~R10 150 3 40 1 0.1 2AX AT 76 613 123 20% B =)l
WO S R4~R10 150 3 40 2 0.03 2X AT 76 613 123 20% B =)l
BIRDNO RS R4~R10 150 3 41 0 0.07 AR AT 59 526 105 20% T )l
WO S R4~R10 150 3 42 0 0.05 A AT 76 613 123 20% e =
WO S R4~R10 150 3 50 1 0.15 X AT 18 116 23 20% B =)l
WO S R4~R10 150 3 50 2 0.12 s AT 18 116 23 20% il =)l
WENDOEEMFES |[RA~RI10 150 3 901 0 0.01 s AT 79 613 123 20% el =Rl
WO S R4~R10 150 3 902 0 0 X AT 64 556 111 20% AR =
WO S R4~R10 150 3 903 0 0 s AT 63 550 110 20% B =)l
WO S R4~R10 150 3 904 0 0.01 s AT 60 532 106 20% T =)l
VA PY S Ry R4~R10 150 3 905 0 0 AX AT 60 532 106 20% RS =Bl
WO S R4~R10 150 3 906 0 0.01 X AT 76 613 123 20% AR =
WO S R4~R10 150 4 3 0 0.08 s AT 56 506 101 20% B =)l
WIRDNO RS R4~R10 150 4 4 0 0.11 s AT 79 613 123 20% T =)l
VA PYSuS iRy R4~R10 150 4 5 0 0.09 AX AT 11 37 7 20% RS =)
WO E  [RA~RI10 150 4 6 0 0.09 2 AT 43 401 80 20% e =
WO E R4~R10 150 4 7 0 0.15 s AT 43 401 80 20% B =)l
BRI RS R4~R10 150 4 8 0 0.08 s AT 11 37 7 20% gl =il
WO S R4~R10 150 4 9 0 0.03 X AT 76 613 123 20% e =
WO S R4~R10 150 4 10 0 0.06 2X AT 76 613 123 20% B =)l
WO S R4~R10 150 4 12 0 0.05 s AL 11 37 7 20% B =)l
BRI RS R4~R10 150 4 13 0 0.09 s AT 11 37 7 20% T =il
WO S R4~R10 150 4 14 0 0.03 X AT 11 37 7 20% e =
WO S R4~R10 150 4 15 0 0.19 2X AT 43 401 80 20% B =)l
WO S R4~R10 150 4 16 0 0.13 s AT 43 401 80 20% T =)l
BENDOFEMFES [RA~RI10 150 4 17 0 0.14 s AT 58 519 104 20% BB =)l
W OBRMAE R4~R10 150 4 18 1 0.04 X AT 56 506 101 20% AR =
WO S R4~R10 150 4 18 2 0.08 s AT 56 506 101 20% B =)l
WO ES |[RA~RI10 150 4 19 0 0.08 s AT 56 506 101 20% el =Rl
VA PY S Ry R4~R10 150 4 20 0 0.08 AX AT 43 401 80 20% RS =)
WO MAE R4~R10 150 4 21 0 0.09 X AT 43 401 80 20% AR =
WO S R4~R10 150 4 22 0 0.05 s AT 11 37 7 20% B =)l
WO ES |[RA~RI10 150 4 23 0 0.03 s AT 43 401 80 20% el =Rl
VA PY S iRy R4~R10 150 4 24 0 0.03 AF AT 66 568 114 20% RS =)
WO S R4~R10 150 4 25 0 0.04 A AT 69 585 117 20% AR =E
WO S R4~R10 150 4 26 1 0.01 s AT 79 613 123 20% B =)l
BIRDNO RS R4~R10 150 4 26 2 0.01 s AT 64 556 111 20% T =il
WO E R4~R10 150 4 28 0 0.04 X AT 64 556 111 20% TN =
WO S R4~R10 150 4 29 0 0.02 A AT 64 556 111 20% e =
DRSO S R4~R10 150 4 30 0 0.04 s AT 64 556 111 20% T =)l
BIRDNO RS R4~R10 150 4 31 0 0.05 AR AT 66 568 114 20% T =il
W OBRMAE R4~R10 150 4 32 0 0.04 X AT 66 568 114 20% e =
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WO E  [RA~RI10 150 4 33 0 0.06 2AX AT 66 568 114 20% B =0
WO S R4~R10 150 4 34 0 0.07 AKX AT 53 484 97 20% T =)l
WO ES |[RA~RI10 150 4 60 0 0.19 AR AT 11 37 7 20% gl =Rl
WO E R4~R10 150 4 61 1 0.26 X AT 66 568 114 20% TR =
WO E  [RA~RI10 150 4 61 2 0.13 2X AT 43 401 80 20% B )1l
WO S R4~R10 150 4 71 0 0.03 AKX AT 59 526 105 20% T =)l
VA PY uS R4~R10 150 4 72 0 0.03 A AT 59 526 105 20% BB =l
WA OEMIEE  [RA~RI0 150 4 73 0 0.05 2 AT 66 568 114 20% e =
WO S R4~R10 150 4 74 0 0.02 s AT 66 568 114 20% B =)l
BIRDNO RS R4~R10 150 4 75 1 0.02 AR AT 11 37 7 20% T )l
WO S R4~R10 150 4 75 2 0.02 X AT 11 37 7 20% e =
WO S R4~R10 150 4 76 0 0.11 2AX AT 11 37 7 20% B =)l
WO S R4~R10 150 4 77 0 0.02 2X AT 11 37 7 20% B =)l
BIRDNO RS R4~R10 150 4 78 0 0.02 AR AT 11 37 7 20% T )l
WO S R4~R10 150 4 80 0 0.04 A AT 66 568 114 20% e =
WO S R4~R10 150 4 81 0 0.08 X AT 59 526 105 20% B =)l
WO S R4~R10 150 4 82 1 0.03 s AT 43 401 80 20% il =)l
WENDOEEMFES |[RA~RI10 150 4 82 2 0.14 AR AT 66 568 114 20% el =)l
WO S R4~R10 150 4 83 0 0.05 X AT 71 595 119 20% AR =
WO S R4~R10 150 4 84 1 0.09 s AT 56 506 101 20% B =)l
WIRDNO RS R4~R10 150 4 84 2 0.14 s AT 43 401 80 20% T =)l
VA PY S Ry R4~R10 150 4 85 0 0.16 AX AT 11 37 7 20% RS =Bl
WO S R4~R10 150 4 86 0 0.14 X AT 11 37 7 20% AR =
WO S R4~R10 150 4 87 0 0.06 s AT 11 37 7 20% B =)l
WIRDNO RS R4~R10 150 4 90 0 0.13 s AT 11 37 7 20% T =)l
VA PYSuS iRy R4~R10 150 4 91 0 0.13 A AT 11 37 7 20% RS =l
WO BRMAE R4~R10 150 4 92 0 0.15 X AT 11 37 7 20% AR =
WO E R4~R10 150 4 93 0 0.11 s AT 66 568 114 20% B =)l
BRI RS R4~R10 150 4 94 0 0.08 s AT 11 37 7 20% gl =il
WO S R4~R10 150 4 95 0 0.09 X AT 56 506 101 20% e =
WO S R4~R10 150 4 96 0 0.08 2X AT 61 538 108 20% B =)l
WO S R4~R10 150 4 97 0 0.14 s AL 56 506 101 20% B =)l
BRI RS R4~R10 150 4 98 0 0.05 s AT 54 492 98 20% T =il
WO S R4~R10 150 4 99 0 0.28 X AT 66 568 114 20% e =
WO S R4~R10 150 4 100 0 0.06 2X AT 43 401 80 20% B =)l
WO S R4~R10 150 4 101 0 0.19 s AT 43 401 80 20% T =)l
MBS R4~R10 150 4 102 0 0.21 A AT 68 579 116 20% RS =M
W OBRMAE R4~R10 150 4 103 0 0.06 X AT 66 568 114 20% AR =
WO S R4~R10 150 4 104 0 0.06 s AT 65 562 112 20% B =)l
WO ES |[RA~RI10 150 4 105 0 0.02 s AT 61 538 108 20% el =Rl
VA PY S Ry R4~R10 150 4 106 0 0.01 AX AT 65 562 112 20% RS =)
WO MAE R4~R10 150 4 107 0 0.01 X AT 61 538 108 20% AR =
WO S R4~R10 150 4 108 0 0.04 s AT 67 573 115 20% B =)l
WO ES |[RA~RI10 150 4 109 0 0.06 s AT 58 519 104 20% el =Rl
VA PY S iRy R4~R10 150 4 110 0 0.12 AX AT 56 506 101 20% RS =)
WO S R4~R10 150 4 146 0 0.05 A AT 11 37 7 20% AR =E
WO S R4~R10 150 4 147 0 0.09 s AT 43 401 80 20% B =)l
BIRDNO RS R4~R10 150 4 150 0 0.02 s AT 11 37 7 20% T =il
WO E R4~R10 150 4 151 0 0.04 X AT 11 37 7 20% TN =
WO E  [RA~RI10 150 4 152 0 0.01 2X AT 44 411 82 20% B =0
DRSO S R4~R10 150 4 153 0 0.01 s AT 44 411 82 20% T =)l
Wb isksis  [Ra~R10 150 4 154 0 0.01 AX AL 44 411 82 20% B )l
W OBRMAE R4~R10 150 4 155 0 0.01 X AT 44 411 82 20% e =
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WO E  [RA~RI10 150 4 156 0 0.01 2AX AT 44 411 82 20% B =0
WIRDNO RS R4~R10 150 4 157 0 0.01 s AT 44 411 82 20% T =)l
WO ES |[RA~RI10 150 4 158 0 0.03 AR AT 44 411 82 20% gl =Rl
WO E R4~R10 150 4 159 0 0.01 X AT 44 411 82 20% TR =
WO E  [RA~RI10 150 4 160 0 0.01 2X AT 44 411 82 20% B )1l
BIRDNO RS R4~R10 150 4 161 0 0.07 s AT 22 165 33 20% T =)l
WO ES  [RA~RIO0 150 4 162 0 0.04 s AT 22 165 33 20% BB =l
WA OEMIEE  [RA~RI0 150 4 163 0 0.13 2 AT 18 116 23 20% e =
WO S R4~R10 150 4 164 0 0.1 s AT 18 116 23 20% B =)l
BIRDNO RS R4~R10 150 4 901 0 0.04 AR AT 66 568 114 20% T )l
WO S R4~R10 150 4 902 0 0.01 X AT 11 37 7 20% e =
WO S R4~R10 150 4 903 0 0 2AX AT 43 401 80 20% B =)l
WO S R4~R10 150 4 904 0 0.02 2X AT 66 568 114 20% B =)l
BIRDNO RS R4~R10 150 4 905 0 0.03 AR AT 44 411 82 20% T )l
WO S R4~R10 150 4 906 0 0 A AT 44 411 82 20% e =
WO S R4~R10 150 4 907 0 0 X AT 44 411 82 20% B =)l
WO S R4~R10 150 4 908 0 0.03 s AT 44 411 82 20% il =)l
WIRVOBMAE S [RA~R10 150 5 1 0 0.12 AX AT 61 538 108 20% B =il
WO S R4~R10 150 5 2 0 0.05 X AT 43 401 80 20% AR =
WO S R4~R10 150 5 3 0 0.12 s AT 56 506 101 20% B =)l
WIRDNO RS R4~R10 150 5 4 1 0.02 s AT 61 538 108 20% T =)l
VA PY S Ry R4~R10 150 5 4 2 0.21 AX AT 44 411 82 20% RS =Bl
WO S R4~R10 150 5 5 0 0.04 X AT 60 532 106 20% AR =
WO S R4~R10 150 5 6 0 0.38 s AT 43 401 80 20% B =)l
WO S R4~R10 150 5 7 0 0.18 s AT 76 613 123 20% T =)l
VA PYSuS iRy R4~R10 150 5 8 0 0.3 A AT 71 595 119 20% RS =l
WO E  [RA~RI10 150 5 9 0 0.06 2 AT 71 595 119 20% e =
WO E R4~R10 150 5 10 0 0.16 s AT 71 595 119 20% B =)l
BRI RS R4~R10 150 5 11 0 0.18 s AT 53 484 97 20% gl =il
WO S R4~R10 150 5 12 0 0.11 X AT 71 595 119 20% e =
WO S R4~R10 150 5 13 1 0.09 2X AT 64 556 111 20% B =)l
WO S R4~R10 150 5 13 2 0.14 s AL 76 613 123 20% B =)l
BRI RS R4~R10 150 5 14 0 0.07 s AT 68 579 116 20% T =il
WO S R4~R10 150 5 15 0 0.1 X AT 71 595 119 20% e =
WO S R4~R10 150 5 16 1 0.03 2X AT 54 492 98 20% B =)l
WO S R4~R10 150 5 16 2 0.04 s AT 54 492 98 20% T =)l
BENDOFEMFES [RA~RI10 150 5 17 0 0.13 s AT 79 613 123 20% BB =Rl
W OBRMAE R4~R10 150 5 18 0 0.08 X AT 71 595 119 20% AR =
WO S R4~R10 150 5 19 0 0.11 s AT 71 595 119 20% B =)l
WO ES |[RA~RI10 150 5 20 0 0.02 s AT 56 506 101 20% el =Rl
VA PY S Ry R4~R10 150 5 21 0 0.07 AX AT 61 538 108 20% RS =)
WO MAE R4~R10 150 5 22 0 0.04 X AT 61 538 108 20% AR =
WO S R4~R10 150 5 23 0 0.04 s AT 61 538 108 20% B =)l
R AVAGRY B S R R4~R10 150 5 24 1 0.02 AX AT 61 538 108 20% RS ER
VA PY S iRy R4~R10 150 5 24 2 0.02 AX AT 61 538 108 20% RS =)
WO S R4~R10 150 5 25 0 0.03 A AT 66 568 114 20% AR =E
WO S R4~R10 150 5 26 1 0.02 s AT 66 568 114 20% B =)l
WA DOBEMAAD R4~R10 150 5 26 2 0.01 s AL 79 613 123 20% T )l
WO E R4~R10 150 5 27 0 0.05 X AT 71 595 119 20% TN =
WO S R4~R10 150 5 28 1 0.03 A AT 71 595 119 20% e =
DRSO S R4~R10 150 5 28 2 0.02 s AT 66 568 114 20% T =)l
BIRDNO RS R4~R10 150 5 28 3 0.02 AR AT 66 568 114 20% T =il
W OBRMAE R4~R10 150 5 29 1 0.01 X AT 66 568 114 20% e =
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WO S R4~R10 150 5 29 2 0.01 A AT 68 579 116 20% AR =
WO S R4~R10 150 5 29 3 0.01 s AT 68 579 116 20% T =)l
WO S  [RA~R10 150 5 29 4 0.01 s AT 74 608 122 20% gl =Rl
WO E R4~R10 150 5 29 5 0 X AT 74 608 122 20% TR =
WO S R4~R10 150 5 32 0 0.05 AFE AT 55 499 100 20% e =
BIRDNO RS R4~R10 150 5 33 0 0.03 AKX AT 44 411 82 20% T =)l
Wb LS [R4~RI10 150 5 34 0 0.03 AX AT 14 411 82 20% L3l Bl
WA OEMIEE  [RA~RI0 150 5 35 0 0.03 2 AT 44 411 82 20% e =
WO S R4~R10 150 5 37 0 0.12 s AT 76 613 123 20% B =)l
WO S R4~R10 150 5 38 0 0.05 AR AT 54 492 98 20% T )l
WO S R4~R10 150 5 40 0 0.01 X AT 44 411 82 20% e =
WO S R4~R10 150 5 41 0 0.02 2AX AT 43 401 80 20% B =)l
WO S R4~R10 150 5 42 0 0.04 2X AT 43 401 80 20% B =)l
BIRDNO RS R4~R10 150 5 43 0 0.02 AR AT 43 401 80 20% T )l
WO S R4~R10 150 5 44 0 0.02 A AT 43 401 80 20% e =
WO S R4~R10 150 5 45 0 0.02 X AT 43 401 80 20% B =)l
WO S R4~R10 150 5 46 0 0.04 s AT 43 401 80 20% il =)l
WENDOEEMFES |[RA~RI10 150 5 47 0 0.04 s AT 43 401 80 20% el =Rl
WO S R4~R10 150 5 48 0 0.04 X AT 43 401 80 20% AR =
WO S R4~R10 150 5 49 0 0.02 s AT 43 401 80 20% B =)l
WO S R4~R10 150 5 50 0 0.02 s AT 43 401 80 20% T =)l
VA PY S Ry R4~R10 150 5 51 0 0.01 AX AT 43 401 80 20% RS =Bl
WO S R4~R10 150 5 52 0 0.01 X AT 43 401 80 20% AR =
WO S R4~R10 150 5 53 0 0.01 s AT 43 401 80 20% B =)l
WIRDNO RS R4~R10 150 5 54 0 0.01 s AT 43 401 80 20% T =)l
VA PYSuS iRy R4~R10 150 5 55 0 0.01 AX AT 43 401 80 20% RS =)
WO E  [RA~RI10 150 5 56 0 0.01 2 AT 43 401 80 20% e =
WO E R4~R10 150 5 57 0 0.01 s AT 43 401 80 20% B =)l
DR OEMAL S R4~R10 150 5 58 0 0.06 s AT 43 401 80 20% gl =il
WO S R4~R10 150 5 59 0 0.04 X AT 43 401 80 20% e =
WO S R4~R10 150 5 60 0 0.04 2X AT 43 401 80 20% B =)l
WO S R4~R10 150 5 61 0 0.01 s AL 43 401 80 20% B =)l
BRI RS R4~R10 150 5 63 0 0.01 s AT 43 401 80 20% T =il
WO S R4~R10 150 5 64 0 0.01 X AT 43 401 80 20% e =
WO S R4~R10 150 5 65 0 0.01 2X AT 43 401 80 20% B =)l
WO S R4~R10 150 5 66 0 0.01 s AT 43 401 80 20% T =)l
BENDOFEMFES [RA~RI10 150 5 67 0 0.02 AR AT 43 401 80 20% BB =Rl
W OBRMAE R4~R10 150 5 68 0 0.01 X AT 43 401 80 20% AR =
WO S R4~R10 150 5 69 0 0.02 s AT 43 401 80 20% B =)l
DN OEMIEES  [RA~RI0 150 5 70 0 0.01 s AT 61 538 108 20% el =Rl
VA PY S Ry R4~R10 150 5 71 0 0.01 AX AT 43 401 80 20% RS =)
WO MAE R4~R10 150 5 72 0 0.01 X AT 43 401 80 20% AR =
WO S R4~R10 150 5 73 0 0.01 s AT 43 401 80 20% B =)l
WO ES |[RA~RI10 150 5 74 0 0.03 s AT 43 401 80 20% el =Rl
VA PY S iRy R4~R10 150 5 75 0 0.01 AX AT 43 401 80 20% RS =)
WO S R4~R10 150 5 76 0 0.01 A AT 43 401 80 20% AR =E
WO S R4~R10 150 5 77 0 0.01 s AT 43 401 80 20% B =)l
BIRDNO RS R4~R10 150 5 78 0 0.01 s AT 43 401 80 20% T =il
WO E R4~R10 150 5 79 0 0.02 X AT 43 401 80 20% TN =
WO E  [RA~RI10 150 5 80 0 0.01 2X AT 43 401 80 20% B =0
DRSO S R4~R10 150 5 901 0 0.03 s AT 49 454 91 20% T =)l
BIRDNO RS R4~R10 150 5 902 0 0.04 AR AT 79 613 123 20% T =il
W OBRMAE R4~R10 150 5 903 0 0.01 X AT 79 613 123 20% e =
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WO S [RA~RI0 %%50 A - LN ek e -
BMHEA ~ 5 904 0 0.04 AR H
WO S R4~R10 150 5 905 0 0 ;ﬂ; ﬁjjf ;g 212 5 20?) Eg%ﬁ o
DRSO S R4~R10 150 5 906 0 0 AR AT 79 613 s 200/0 Ef%ﬁﬁ o
WO E R4~R10 150 5 907 0 0.01 A AT 79 613 i 200/0 Eg?ﬁg o
WO S R4~R10 150 5 908 0 0 2X AT 79 613 0 20? Eg'éﬁﬁ 0
WARNOEMME  [R4A~RIO0 150 5 909 0 0.07 s AT 79 613 123 2006 %ﬁﬁ o
VA PY uS R4~R10 150 5 910 0 0.01 A AT 79 613 % 200/0 Ef%ﬁﬁ o
WO S R4~R10 150 5 911 0 0.01 A AT 79 613 0 200/0 E%%ﬁﬁ o
WO S R4~R10 150 5 912 0 0.04 s AT 79 613 5 200@ ﬁ%ﬁﬂ 0
WARNOHEMMEE  [R4A~RI0 150 6 1 0 0.07 AR AT 56 506 T 2006 Eg?ﬁg o
WO S R4~R10 150 6 2 1 0.14 A AT 55 499 0 200/0 Ef%ﬁﬁ o
WO S R4~R10 150 6 2 2 0.14 2AX AT 79 613 23 200/0 %%ﬁﬁ 0
WO S R4~R10 150 6 3 0 0.08 2X AT 44 411 o 200@ %ﬁﬁ o
WO S R4~R10 150 6 4 0 0.01 A AT 61 538 0 200@ E&fﬁg o
WO S R4~R10 150 6 5 0 0.07 A AT 56 506 T 200/0 Ef%ﬁﬁ o
WO S R4~R10 150 6 6 0 0.01 X AT 57 512 07 200/0 %%ﬁﬁ 0
WO S R4~R10 150 6 7 0 0.03 s AT 79 613 0 200@ %‘ﬁﬁ 0
DR OEMALE R4~R10 150 6 8 0 0.01 AR AT 57 512 o2 200& ag%[z o
WO S R4~R10 150 6 9 0 0.01 A AT 56 506 o0 200/0 Eg?ﬁg o
WO S R4~R10 150 6 10 0 0.01 s AT 76 613 0 20? Eg?ﬁﬂ o
WARNOEMMEE  [R4A~RIO0 150 6 11 0 0.01 s AT 76 613 s 2006 Eg?ﬁﬁ o
VA PY S Ry R4~R10 150 6 12 0 0.01 AX AT 58 519 o: 200/0 E}%ﬁ o
WO S R4~R10 150 6 13 0 0.05 A AT 58 519 i 200/0 Eﬁ%ﬁﬁ o
WO S R4~R10 150 6 14 0 0.1 s AT 56 506 0 20? Eg?ﬁﬂ o
WARNDOEMMEE  [R4A~RIO0 150 6 15 0 0.1 s AT 60 532 I 2006 Eg?ﬁﬁ o
VA PYSuS iRy R4~R10 150 6 16 0 0.03 A AT 58 519 o1 200/0 E}%ﬁ 0
WO E  [RA~RI10 150 6 17 0 0.03 A AT 58 519 T 200/0 %%ELB o
WO E R4~R10 150 6 18 0 0.1 s AT 60 532 e 200@ ﬁ%ﬁﬂ 0
WARNOEMMEE  [R4A~RIO0 150 6 19 0 0.04 s AL 66 568 i 200& Eg?ﬁﬁ o
WO S R4~R10 150 6 20 0 0.04 AKX AT 66 568 i 200/0 Ef%ﬁg o
WO S R4~R10 150 6 21 1 0.02 2X AT 53 484 & 200/0 %%ﬁﬁ 0
WO S R4~R10 150 6 21 2 0.02 s AL 54 492 5 20? %ﬁﬁ 0
WARNDOEMMEE  [R4A~RIO0 150 6 22 0 0.04 s AL 59 526 - 200& Eg?ﬁﬁ o
WO S R4~R10 150 6 23 0 0.06 AKX AT 53 484 o 200/0 Ef%ﬁg o
WO S R4~R10 150 6 24 0 0.05 2X AT 54 492 5 200/0 %%ﬁﬁ 0
WO S R4~R10 150 6 25 0 0.04 s AT 53 484 T 20? %ﬁﬁ o
DR OEMALE R4~R10 150 6 26 0 0.04 AR AT 53 484 5 200& ag%g o
WO E  [RA~RI0 150 6 27 0 0.06 A AT 79 613 5 200/0 E%ﬁﬁ o
WO S R4~R10 150 6 28 0 0.05 s AT 56 506 oL 20? %%ﬁﬁ o
WARNDOEMMEE  [RA~RIO0 150 6 29 0 0.04 s AT 76 613 7 2006 Eg?ﬁﬁ o
VA PY S Ry R4~R10 150 6 30 0 0.03 AF AT 79 613 5 200/0 %%ﬁﬁ 0
WO E  [RA~RI0 150 6 31 0 0.08 A AT 42 392 = 200/0 %%ELB o
WO S R4~R10 150 6 32 0 0.2 s AT 53 484 T 20? %%ﬁﬁ o
WARNDOEMMEE  [RA~RIO0 150 6 33 0 0.05 s AT 71 595 E 2006 Eg?ﬁﬁ o
VA PY S iRy R4~R10 150 6 34 0 0.08 AX AT 76 613 3 200/0 %%ﬁﬁ 0
WO S R4~R10 150 6 35 0 0.04 2X AT 43 401 e 200/0 %%ELB 0
WO S R4~R10 150 6 36 0 0.06 s AT 43 401 % 200@ Eg'éﬁﬁ o
WO S R4~R10 150 6 37 0 0.05 AKX AT 43 401 % 2006 Egﬁ% o
WO E R4~R10 150 6 38 0 0.04 A AT 86 613 % 200/0 Ef%ﬁg o
WO S R4~R10 150 6 39 1 0.08 2X AT 86 613 0 20? E%ﬁﬁ o
DRSO S R4~R10 150 6 39 2 0.1 s AT 86 613 5 20? %ﬁﬁ 0
g:ﬁff\\bﬁiﬂ(%ﬂé\ R4~R10 150 6 40 0 0.17 s AT 71 595 ﬁg ggof %ﬁg o
N Gp A ~ > 0 - I
SRDOFEMAM S |RA~RI0 150 6 41 0 0.16 AX AT 86 613 123 20% [ gj,:
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WO S R4~R10 150 6 42 0 0.06 A AT 71 595 119 20% AR =
WIRDNO RS R4~R10 150 6 44 0 0.11 s AT 56 506 101 20% T =
WO ES |[RA~RI10 150 6 45 0 0.09 AR AT 71 595 119 20% gl =)l
WO E R4~R10 150 6 46 0 0.06 X AT 61 538 108 20% TR =
WO S R4~R10 150 6 47 0 0.29 AFE AT 54 492 98 20% e =
WO S R4~R10 150 6 48 0 0.1 s AT 61 538 108 20% T =)l
WA OEMIEE  [RA~RI0 150 6 49 0 0.1 A AT 71 595 119 20% BB =l
WO S R4~R10 150 6 50 0 0.21 X AT 71 595 119 20% AR =
WO S R4~R10 150 6 51 0 0.07 s AT 66 568 114 20% B =)l
WD BEMAAE R4~R10 150 6 52 0 0.05 AR AT 66 568 114 20% T =N
WO S R4~R10 150 6 53 0 0.05 X AT 66 568 114 20% e =
WO E  [RA~RI10 150 6 54 0 0.21 2AX AT 66 568 114 20% B =0
WO S R4~R10 150 6 55 0 0.04 2X AT 71 595 119 20% B =)l
BRSO RIS R4~R10 150 6 57 1 0.05 AR AT 71 595 119 20% T =)l
WO S R4~R10 150 6 57 2 0.05 A AT 71 595 119 20% e =
WO E  [RA~RI10 150 6 58 0 0.04 X AT 73 604 121 20% B =0
WO S R4~R10 150 6 59 0 0.04 s AT 57 512 102 20% il =)l
WENDOEEMFES |[RA~RI10 150 6 60 0 0.04 AR AT 66 568 114 20% el =)l
WO S R4~R10 150 6 61 0 0.03 X AT 71 595 119 20% AR =
WO S R4~R10 150 6 62 0 0.06 A AT 71 595 119 20% AR =
WIRDNO RS R4~R10 150 6 63 0 0.14 s AT 71 595 119 20% T =
VA PY S Ry R4~R10 150 6 64 0 0.16 AX AT 71 595 119 20% RS =Bl
WO S R4~R10 150 6 65 0 0.06 X AT 71 595 119 20% AR =
WO S R4~R10 150 6 66 0 0.05 A AT 71 595 119 20% AR =
WO S R4~R10 150 6 67 0 0.07 AKX AT 71 595 119 20% T =)l
VA PYSuS iRy R4~R10 150 6 68 0 0.17 AX AT 71 595 119 20% RS =)
WO E  [RA~RI10 150 6 69 0 0.08 2 AT 71 595 119 20% e =
WO E R4~R10 150 6 70 0 0.23 s AT 64 556 111 20% B =)l
WD RS R4~R10 150 6 71 0 0.07 s AT 76 613 123 20% gl )l
WO S R4~R10 150 6 72 0 0.03 X AT 66 568 114 20% e =
BB OEMIEE  [RA~RI10 150 6 73 0 0.05 2X AT 76 613 123 20% B =
WO S R4~R10 150 6 74 0 0.05 s AL 58 519 104 20% B =)l
WA DOEEMAAD R4~R10 150 6 75 0 0.16 s AT 58 519 104 20% T )l
WO S R4~R10 150 6 76 0 0.11 X AT 58 519 104 20% e =
WO S R4~R10 150 6 77 0 0.12 A AT 66 568 114 20% AR =
WO S R4~R10 150 6 78 0 0.14 s AT 71 595 119 20% T =)l
DR OEMALE R4~R10 150 6 81 0 0.06 AR AT 56 506 101 20% RS )l
W OBRMAE R4~R10 150 6 82 0 0.07 X AT 71 595 119 20% AR =
WO E  [RA~RI10 150 6 83 0 0.08 s AT 91 613 123 20% B Bl
WO ES |[RA~RI10 150 6 84 0 0.08 s AT 71 595 119 20% el =
VA PY S Ry R4~R10 150 6 85 1 0.04 AX AT 79 613 123 20% RS =)
WO MAE R4~R10 150 6 85 2 0.04 X AT 79 613 123 20% AR =
WO S R4~R10 150 6 86 0 0.15 AFE AT 71 595 119 20% T =
BRSO RS R4~R10 150 6 88 0 0.02 AX AT 61 538 108 20% RS ER
VA PY S iRy R4~R10 150 6 89 0 0.01 AX AT 61 538 108 20% RS =)
WO E  [RA~RI10 150 6 90 0 0.02 2X AT 61 538 108 20% e =
WO S R4~R10 150 6 91 0 0.01 s AT 61 538 108 20% B =)l
WA DOBEMAAD R4~R10 150 6 92 0 0.02 s AL 61 538 108 20% T )l
WO E R4~R10 150 6 93 0 0.01 X AT 61 538 108 20% TN =
WO E  [RA~RI10 150 6 94 0 0.01 2X AT 61 538 108 20% B =0
DRSO S R4~R10 150 6 95 0 0.01 s AT 61 538 108 20% T =)l
BRSO RS R4~R10 150 6 96 0 0.01 AR AL 66 568 114 20% T )l
W OBRMAE R4~R10 150 6 97 0 0.01 X AT 66 568 114 20% e =
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WD OBEMA S [RA~RI0 150 6 98 0 0.01 A AT 66 0 o

DARNDIEAMLA  |[RA~RI0 150 6 901 0 0.15 2 NG 13 igf léé 38;) %iﬁ o
DR O  [RI~RI0 150 7 1 0 0.05 AX AT 61 538 108 200/0 e (;B oo
WO E  [RA~RI10 150 7 2 0 0.1 A AT 54 492 98 200/0 E%QB L
BRI OFRMALE  |RA~RI10 150 7 3 0 0.05 AX AT 54 492 98 200/0 Eigﬁ 0
BRI OMM S [RA~RI10 150 7 4 0 0.04 AX AT 54 492 98 200/0 E%QK el
DR OEMALE R4~R10 150 7 5 0 0.04 AX AT 54 492 98 20; E%QB L
BRI BNOFRMALE  |RA~RI10 150 7 6 0 0.04 AX AL 66 568 114 200/0 %Qﬁ —
WIS OFMALE  |RA~RI10 150 7 7 0 0.05 AX AT 76 613 123 200/0 E,%%;LB 0
DR OFMMEAE  [R4~R10 150 7 8 0 0.03 A AL 66 568 114 200/0 (;B =l
e BNOFRMALLS  |RA~RI10 150 7 12 0 0.08 AX AL 61 538 108 200/0 ﬁﬁiﬁ i
WIS BOFRMALLS  |RA~RI10 150 7 13 0 0.04 AX AT 71 595 119 2002 E,%%;B o
BRI DOFMAAE  |R4A~RI10 150 7 14 1 0.04 AF AT 56 506 101 20% E,%%;LK o
DRSO S [RA~RI0 150 7 14 2 0.04 AF AL 56 506 101 200/0 (;B o
e DSOS [RA~RI10 150 7 15 0 0.03 AX AT 61 538 108 200/0 %%j%iﬁ i
WIS BOFRMALLS  |RA~RI10 150 7 16 0 0.02 AX AT 61 538 108 200/0 E,%%;B o
WRILBOFMAAE  |RA~RI10 150 7 17 0 0.18 AX AT 59 526 105 200/0 E,%%;LK 0
WIRNOHEMAE  |R4~RI10 150 7 18 1 0.06 AX AT 61 538 108 200/0 B (;B e
e DSOS [RA~RI10 150 7 18 2 0.09 AX AT 61 538 108 200/0 éiﬂ Exll
LR OFEMMES  [RA~RI10 150 7 19 0 0.1 AFX AT 79 613 123 200/0 E,%%;B oo
BIRDNOMM S [RA~RI10 150 7 20 0 0.04 AX AT 54 492 98 200/0 Ef%iﬁ el
BRIRBOFEMAEE  |RA~RI10 150 7 21 0 0.06 AX AL 53 484 97 200/0 B (;B o
e DSOS [RA~RI10 150 7 22 1 0.02 AX AT 44 411 82 200/0 éiﬁ Exll
BRI OFRMAS  |R4A~RI10 150 7 22 2 0.05 AX AT 79 613 123 200/0 E,%%;B o
WP OEEMES  |[RA~RI10 150 7 30 0 0.02 s AT 71 595 119 200/0 5}/%;[3 —
DIV OBMAES  |[RA~RI10 150 7 31 0 0.02 AX AT 56 506 101 200/2 %%QB il
N OBMAE S [RA~RI10 150 7 32 0 0.02 AF AT 61 538 108 20% %Qﬁ rel
WIS DOFMALE  |RA~RI10 150 7 33 0 0.02 AX AT 61 538 108 20% E,%%;B 0
WL DNOBRMAL S R4~R10 150 7 34 0 0.02 AKX AT 56 506 101 200/0 (\;ﬁ —
e DSOS [RA~RI10 150 7 35 0 0.05 AX AT 66 568 114 200/0 ﬁf@iﬁ L
WIS OFRMALLE  |RA~RI10 150 7 36 0 0.05 AX AT 53 484 97 200/0 E,%%;B 0
WIS DOFMALE  |RA~RI10 150 7 37 0 0.09 AX AT 76 613 123 200/0 ﬁg%j 0
DRSO S |[RA~RI0 150 7 38 0 0.06 AF AL 79 613 123 200/0 (\;B o
e BNOFRMAS  |RA~RI10 150 7 39 1 0.01 AX AL 66 568 114 200/0 %%%QB Ll
WIS BOFRMALS  |RA~RI10 150 7 39 2 0.05 AX AT 66 568 114 200/0 ﬁ,zﬁ;ﬁ 0
BRI DOFMAAE  |R4~RI10 150 7 40 0 0.07 AX AT 44 411 82 200/0 E,%%;LK o
WIS DORMA L |RA~RI10 150 7 41 0 0.06 AX AL 44 411 82 20; B (;B o
WIeBNOFRMALS  |RA~RI10 150 7 42 0 0.08 AX AL 44 411 82 200/0 ééiﬁ rl
WIS DOFRMALLS  |RA~RI10 150 7 43 0 0.05 AX AT 79 613 123 200/0 E,%%;B o
WIS OFMAEE  |R4A~RI10 150 7 44 1 0.07 AX AT 71 595 119 200/0 %@iﬁ o
e DSOS [RA~RI10 150 7 44 2 0.07 AX AT 58 519 104 200/0 B (\QB o
WIeBNOFRMALS  |RA~RI10 150 7 46 0 0.06 AX AL 58 519 104 200/0 éiﬁ —
RIRBDOEMAEE  |R4A~RI10 150 7 47 0 0.07 AF AL 66 568 114 200/0 E,%%;B o
WIS FMAEE  |R4A~RI10 150 7 48 0 0.08 AX AL 66 568 114 200/0 E%iﬁ EJ”
e DSOS [RA~RI10 150 7 50 0 0.07 AX AT 66 568 114 200/0 B (\QB o
WAL BOFRMAS  |RA~RI10 150 7 51 0 0.02 AX AT 71 595 119 200/0 Eiiﬁ —
BRI OFMAAE  |RA~RI10 150 7 52 0 0.04 AX AT 71 595 119 200/0 ag%gﬁ o
WIS [RA~RI0 150 7 53 0 0.1 s AT 71 595 119 200/0 (\;B —
BT PNOFRMAE  |RA~RI10 150 7 56 0 0.06 AX AL 71 595 119 200/0 %%%QB Ll
WIS OFRMALLS  |RA~RI10 150 7 57 0 0.03 AX AT 71 595 119 200/0 é;ﬂ o
BRI OFMAE  |R4~RI10 150 7 58 0 0.03 AX AT 71 595 119 200/0 ag%gﬁ o
&afxﬁiz}oﬁmﬁé} R4~R10 150 7 59 0 0.08 s AT 71 595 119 200/2 E%/%;E gj::

N YA N\ ~ > E]
7R DSORRMAL B R4~R10 150 7 61 0 0.05 AF AT 54 492 98 20% BEES El




I

7 Ry E RS O S fi E

(1) Atk
I FTESs T k% Sk 9D R D ELIL DN PSS A ft
L s I L e I e R e R R T e s - & fis
wor | g | F (ha) ’ " (in”) " MY | GRS WRBE—/NBE4 =]

WO E  [RA~RI10 150 7 63 0 0.05 2AX AT 54 492 98 20% B =0
WO S R4~R10 150 7 64 0 0.03 s AT 54 492 98 20% T =
WO E  [RA~RI10 150 7 66 0 0.03 AR AT 71 595 119 20% B =)l
WL DNOBMAL S R4~R10 150 7 67 0 0.03 A AT 54 492 98 20% s =
WO S R4~R10 150 7 68 0 0.03 AFE AT 79 613 123 20% e =
WO S R4~R10 150 7 69 0 0.03 s AT 79 613 123 20% T =
DR OEMALE R4~R10 150 7 70 0 0.25 A AT 71 595 119 20% BB =l
WO S R4~R10 150 7 72 1 0.17 A AT 79 613 123 20% s =
WO S R4~R10 150 7 72 2 0.07 s AT 79 613 123 20% B =)l
WD BEMAAE R4~R10 150 8 1 1 0.02 AR AT 79 613 123 20% T =N
WO S R4~R10 150 8 1 2 0.05 X AT 79 613 123 20% e =
WO E  [RA~RI10 150 8 2 1 0.01 2AX AT 79 613 123 20% B =0
WO S R4~R10 150 8 2 2 0.01 2X AT 79 613 123 20% B =)l
BRSO RIS R4~R10 150 8 2 3 0.01 AR AL 71 595 119 20% T =)l
WO S R4~R10 150 8 3 1 0.02 A AT 57 512 102 20% e =
WO S R4~R10 150 8 3 2 0.02 A AT 71 595 119 20% AR =
WO S R4~R10 150 8 4 1 0.05 s AT 57 512 102 20% il =)l
WENDOEEMFES |[RA~RI10 150 8 4 2 0.05 AR AT 66 568 114 20% B =Rl
WL DDA S R4~R10 150 8 5 0 0.02 A AT 63 550 110 20% ey =
WO S R4~R10 150 8 6 0 0.02 A AT 63 550 110 20% AR =
WO S R4~R10 150 8 7 0 0.05 s AT 63 550 110 20% T =
VA PY S Ry R4~R10 150 8 8 0 0.02 AX AT 61 538 108 20% RS =Bl
WL DDA S R4~R10 150 8 9 0 0.02 A AT 61 538 108 20% ey =
WO E  [RA~RI10 150 8 10 0 0.01 s AT 61 538 108 20% B Bl
WO S R4~R10 150 8 11 0 0.05 s AT 61 538 108 20% T =
VA PYSuS iRy R4~R10 150 8 12 0 0.02 AX AT 61 538 108 20% RS =)
WO E  [RA~RI10 150 8 13 0 0.06 2 AT 61 538 108 20% e =
WO E R4~R10 150 8 14 0 0.03 s AT 61 538 108 20% B =)l
WD RS R4~R10 150 8 15 0 0.02 s AL 61 538 108 20% gl )l
WO S R4~R10 162 1 13 0 0.27 AKX AT 71 595 119 20% T il
WO S R4~R10 162 1 14 0 0.04 A AT 55 499 100 20% T Il
WO S R4~R10 1 1 1 0 0.04 KK E D 58 141 28 20% ZH IR HYE ZHIR
WA DOEEMAAD R4~R10 1 1 2 0 0.03 RKIR| Z DA 58 141 28 20% JEIR R AR
WARNOEMMEES  [R4A~RIO0 1 1 3 0 0.04 KR DM 58 141 28 20% PN IR
WRBOEMEES  [RA~RI0 1 1 4 0 0.04 KIK| Z D 58 141 28 20% JEIR H ZHIN
WO S R4~R10 1 1 5 0 0.04 KIR| DA 58 141 28 20% ZHIR H g ZHIR
DR OEMALE R4~R10 1 1 6 0 0.2] N7 A | AR N7 A H 0 0 0 20% ZH IR H g AR
WRNOHEMMEE  [R4A~RIO0 1 1 7 0 0.1 KIR| DML 58 141 28 20% JEIR Y ZEIR
WRPOEMES  [RA~RI0 1 1 8 1 0.03 RKK| Z D 58 141 28 20% JEIR g R
WD RIS R4~R10 1 1 8 2 0.05 RKIR| ZDMA 58 141 28 20% ZAIR IR
WA OEMIE  [RA~RI10 1 2 1 0 0.16] HENTACH | Ao N7 A 0 0 0 20% JEIR N
WO ES  [RA~RI0 1 2 2 0 0.18] HENT ACHI | Ao N7 A 0 0 0 20% JEIR IR
WRPOEMES  [RA~RI0 1 3 2 0 0.07| MENTAH | AN A 0 0 0 20% JEIR g R
WP OIS R4~R10 1 7 18 4 0.01] HENTACH | N7 AR 0 0 0 20% ZAIR IR
WA OEMIE  [RA~RI10 1 7 20 0 0.02] HENTACH | e N7 A 0 0 0 20% JEIR N
WO E  [RA~RI10 1 7 34 1 0.03 2X AT 78 613 123 20% R H ZHIR
W NOBREMME  [RA~RI0 1 7 34 2 0.39] Z DA )i KK 66 148 30 20% ZHI8 ZHIR
WO E  [RA~RI10 1 9 9 0 0.03 s AT 55 499 100 20% JEIR W ZHIR
WP OEMIEE  [RA~RI0 1 9 11 0 1.03 A AT 38 352 70 20% ZE38 ZEIR
WO E  [RA~RI10 2 1 28 1 0.03 2X AT 79 613 123 20% JEIR ZHIR
DRSO S R4~R10 2 1 28 2 0.02 s AT 79 613 123 20% ZAIR IR
WO S R4~R10 2 1 29 0 0.06 AX AL 69 585 117 20% ZEIR WV ZHIR
WO E  |[RA~RI0 2 1 30 1 0.26 A AT 63 550 110 20% ZE38 ZEIR
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WO E  [RA~RI0 2 1 30 2 0.49 A AT 74 608 122 20% JEIR HH ZHIR
WRNOAEMEES [RA~RI0 2 1 31 0 0.04 A AL 79 613 123 20% ZHUR IR
WARNOHEMEES  [RA~RI0 2 1 32 0 0.12 A AT 69 585 117 20% N IR
WL DNOBMAL S R4~R10 2 1 33 1 0.06 A AT 64 556 111 20% ZHIR HE 8N
WO E  [R4A~RI0 2 1 33 2 0.06 A AT 63 550 110 20% JEIR FH AR
WRNOBEMES [RA~RI0 2 1 34 1 0.02 A AT 72 599 120 20% ZHR g IR
DR OEMALE R4~R10 2 1 34 2 0.01 AX AT 70 590 118 20% ZHIR HE 0N
WO S R4~R10 2 1 35 1 0.01 A AT 70 590 118 20% JHIR HYE ZHIN
WO E  [R4A~RI0 2 1 35 2 0.01 A AT 70 590 118 20% JEIR H AR
WRNOHEMEES  [RA~RI0 2 1 35 3 0.01 s AT 71 595 119 20% N IR
WO E  [RA~RI0 2 1 36 0 0.21 A AT 68 579 116 20% ZE38 IR
WRBNOEBMEES  [RA~RI0 2 1 37 0 0.05 A AT 68 579 116 20% ZER W 1 ZHIR
WO E  [R4A~RI0 2 1 38 0 0.08 A AT 70 590 118 20% JEIR H ZAIR
WRNOHEMEES  [RA~RI0 2 1 39 1 0.01 s AT 79 613 123 20% N IR
WO E  [RA~RI0 2 1 39 2 0.08 A AT 69 585 117 20% ZE38 H IR
WRBNOEBMEES  [RA~RI0 2 1 40 1 0.13 A AT 72 599 120 20% ZER W ZHIR
W NOBREMME  [RA~RI0 2 1 40 2 0.06 A AT 70 590 118 20% N IR
WARNOHEMEES  [RA~RI0 2 1 41 1 0.24 A AT 72 599 120 20% N IR
WL DDA S R4~R10 2 1 41 2 0.24 A AT 68 579 116 20% ZHIR HE AR
WO E  [R4A~RI0 2 1 42 1 0.03 A AT 70 590 118 20% JEIR HH IR
WRNOHEMES [RA~RI0 2 1 42 2 0.12 A AT 67 573 115 20% ZHUR IR
DRSO S R4~R10 2 2 1 1 0.02 AX AT 67 573 115 20% ZH I8 HE 8N
WL DDA S R4~R10 2 2 1 2 0.07 A AT 70 590 118 20% ZHIR HE AR
WO E  [R4A~RI0 2 2 2 1 0.06 A AT 50 462 92 20% JEIR HH IR
DR OHEMEES [RA~RI0 2 2 2 2 0.06 A AT 68 579 116 20% ZHUR IR
DRSO E R4~R10 2 2 3 0 0.04 AX AT 72 599 120 20% ZHIR HE 8N
WO E  [R4A~RIO0 2 2 4 0 0.03 AX AT 68 579 116 20% N U
WO E  [R4A~RI0 2 2 5 1 0.11 A AT 79 613 123 20% N ZAIR
WARNOHEMEES  [RA~RI0 2 2 5 2 0.01 s AT 68 579 116 20% N IR
WO E  [RA~RI0 2 2 6 0 0.02 A AT 79 613 123 20% JEIR B IR
WM S [RA~RI0 2 2 7 0 0.02 A AT 69 585 117 20% JEIR W i ZHIR
WO E  [R4A~RI0 2 2 8 0 0.04 A AT 71 595 119 20% N ZAIR
WARNOHEMEES  [RA~RI0 2 2 9 1 0.01 s AT 71 595 119 20% N IR
WO E  [RA~RI0 2 2 9 2 0.2 A AT 72 599 120 20% ZE38 IR
WRNOHEMMEE  [R4A~RIO0 2 2 10 1 0.18 A AT 73 604 121 20% JEIR HH AR
WO S [RA~RI0 2 2 10 2 0.03 A AT 72 599 120 20% N IR
WARNOHEMEES  [RA~RI0 2 2 11 1 0.02 A AL 44 411 82 20% JEIR IR
W OBRMAE R4~R10 2 2 11 2 0.11 A AT 44 411 82 20% JHIR Y AN
WO E  [R4A~RI0 2 2 12 1 0.01 A AT 79 613 123 20% JEIR HH IR
WRNOBEMEES  [RA~RI0 2 2 12 2 0.07 A AT 71 595 119 20% ZHIR IR
WA OEMIE  [RA~RI10 2 2 12 3 0.07 A AT 79 613 123 20% ZE3R N
WO ES  [RA~RI0 2 2 13 1 0.02 A AT 77 613 123 20% JEIR IR
WO E  [R4A~RI0 2 2 13 2 0.09 A AT 70 590 118 20% JEIR HH IR
WO ES  [RA~RI0 2 2 14 1 0.11 A AT 79 613 123 20% ZHIR IR
WA OEMIE  [RA~RI10 2 2 14 2 0.02 A AT 77 613 123 20% ZE3R N
WO E  [R4A~RIO0 2 2 15 0 0.16 A AT 70 590 118 20% ZER W 1 ZHIR
W NOBREMME  [RA~RI0 2 2 16 1 0.05 A AT 62 544 109 20% N ZAIR
WARNOEMES [RA~RI0 2 2 16 2 0.05 A AL 79 613 123 20% N IR
WP OEMIEE  [RA~RI0 2 2 17 1 0.04 A AT 55 499 100 20% ZE38 ZEIR
WO E  [R4A~RI0 2 2 17 2 0.15 A AT 79 613 123 20% JEIR FH AR
WM S [RA~RI0 2 2 18 1 0.04 A AT 55 499 100 20% ZHR H IR
WARNOEMEES  [RA~RI0 2 2 18 2 0.13 A AL 79 613 123 20% N IR
WO E  |[RA~RI0 2 2 19 1 0.05 A AT 79 613 123 20% ZE38 ZEIR
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LS OBMALE  [RA~RIO0 2 2 19 2 0.34 2 AL 79
N Y . 613 S5y N N
DAL [RA~RIO 2 2 20 0 0.3 2 NG 79 613 gg ;83’ ARG AR
zs@fm}bﬁwﬁﬂé\ R4~R10 2 2 22 1 0.24 A AL 79 613 123 200/0 fﬁﬁﬁ@ ;E\?R
D7 DA A [RI~RIO 2 2 22 ol o2 =% AL 70 590 18 Son AR AR
DAL [RA~RIO 2 2 23 o o3[ =% AL 69 585 117 208 AREE AR
DILVDRRMAL LY [RA~RIO 2 2 901 0 0 Ax AT 70 590 118 200/0 AR AR
DIAOREIH S [RA~RIO 2 4 4 0 0.22 AX] AT 79 613 123 200 L L
B SRR E  [RA~RIO 2 1 5 o _oa1] A% AL 77 513 o o ARE AR
DAL [RA~RIO 2 4 6 o 0.08 NG 79 613 123 20 ARG AR
DA DAL A [RI~RI0 2 1 8 1 o001 =] AT 71 595 119 20 ARG AR
WIROFEMALS  |RA~RI10 2 4 8 2 0.04 AX AL 79 613 123 200/0 fﬁﬁmﬁ i
DAL [RA~RIO 2 4 9 o[ =¥ AT 61 538 108 208 AR AR
WIRBOFMMA  [RA~RI0 2 4 9 2 0.83 s AT 62 544 f) AR AR
W72 O R — - 109 20% ZER i ZEIR
BHGEA [RA~RI0 2 1 10 [ o009 =% AT 52 177 n
e S B 2 = - 95 20% ZE Y JHIR
FAALA |RA~RILO 2 1 10 o 0.8 DN 65 562 T
DR IO — - _ 112 20% JEN g RN
sODRRMLE  RARIO 2 5 1 1 0.65 AX AT 48 445 89 20% SE R T —
&afmfbﬁ%n’ﬂé\ R4~R10 2 5 1 2 0.43] AR NTAH | 537 A M 0 0 0 200/0 f"ﬁwﬂ ﬁﬁ
W DNOBMAE  [RA~RI0 2 5 1 3 0.42 A AT 41 382 0 2R AR
e S B e = : - 76 20% ZEIR JEIR
£ DR A R4~R10 2 5 1 4 4.86 AF AT 43 401 30 20% P —
D VDFE S |RA~RIO 2 5 1 5| 069 x| AL 62 544 109 208 AR Eif AR
WO S [RA~RI0 2 5 1 6 1.21 A AT 48 445 0 ARRE AR
e B 2 = - 89 20% ZEY i JHIR
SRR R4~R10 2 5 1 7 0.16 AF AT 40 373 75 20% R s
WA OBMAA S [RA~RI0 3 7 13 0 0.15 AX AT 64 556 111 200/0 i T
zs?;fmi:bﬁwﬂé} R4~R10 3 7 14 1 0.03 s AT 65 562 112 200/0 fﬁﬁm‘fﬂf AR
IR DBMAA S [RA~RI0 3 7 14 2 0.15 AX AL 79 613 0 — s
S oL = - 123 20% N ZEIR
FEMFLS  |RA~RIO 3 7 14 3 0.03 AX AL 79 613 T
YA B s Ty = . 123 20% JEIR i N
- FRMFH S R4~R10 3 7 14 4 0.15 A ANT. 50 462 92 20% = N —=
DI DRI E  [RA~RIO 3 7 15 1 0.2 AF AT 69 585 117 200/0 S R
BSOS [RA~R10 3 7 15 2 0.02 AX AT 79 613 0 ZUR il AR
D7 OB A _ : _ 123 20% JEIR mfE JEIN
OAMMLE  [RA~RIO 3 7 16 o o026 =¥ AT 62 544 109 20% NG il
DI DRI E  [RIRIO 3 7 17 0 0.03 AX AT 79 613 123 200/0 fﬁ{ﬂlﬂﬂ‘{ﬁ: AR
WIS [RA~RI0 3 7 18 0 0.14 AF AL 62 544 0 AR AR
DR OERMEE ~ - 109 20% ZER i IR
BHGEEA [RA~RL0 3 7 19 o o004 =¥ AT 69 585 7
i S B 2 = ' - 117 20% ZEIR IR
£ DFR N E A R4~R10 3 7 20 1 0.07 A ANT 69 585 117 20% e — ——
DI DRI E  [RI~RIO 3 7 20 2 0.15 AX AT 79 613 123 200° fE{Rlﬂﬂ‘{ﬂj AR
DR OFMAA  [RA~RI0 3 7 21 0 0.04 AX AT 69 585 f’ AR i AR
DRBNOIRMAE ~ - 117 20% ZER i JHIR
B [RA~RI0 3 7 31 1 o003 =] AT 79 613 i
e N AL A = ' : 123 20% ZEIR AR
£ - ML T R4~R10 3 7 31 2 0.04 A AN L 55 499 100 20% = e ——
&aﬁ@bﬁ%ﬁéﬂé\ R4~R10 3 7 31 3 0.16 s AT 71 595 119 200/0 fﬁﬁm{’f AR
e DSOS [RA~R10 3 7 32 0 0.02 AX AT 79 613 0 ZLRE AR
i S B 2 = - 123 20% ZEIR JEHIR
FRMFLS  |RA~RIO 3 7 33 1 0.24 AX AT 79 613 9 n
W IR A |RA~ 5 123 20% ZHIR i HiR
SR 4~R10 3 7 33 2 0.05 AX AT 79 613 123 20% A T —
zs?;fmfbﬁwﬂé} R4~R10 3 7 33 3 0.05 s AT 79 613 123 200/0 f‘ﬁ'ﬂ{’f AR
DIDOBMA S [RI~RIO 3 7 33 4 0.05 AX AT 79 613 123 200/0 AR 1 AR
WRINDOBEMAAL  |RA~RI0 3 7 34 0 0.09 AX] AT 79 613 X S =
WINPT A |RA~ - 123 20% HIR i HiR
OPRMHL G 4~R10 3 7 35 1 0.02 AX AL 79 613 123 20% SE R T —
&afmfbﬁ%néﬂé\ R4~R10 3 7 35 2 0.07 AX AT 79 613 123 200/0 f"ﬁﬁﬂ{ﬂ AR
WP OFMMS  [RA~RI0 3 7 36 1 0.07 2 AT 79 613 0 ZURH 2R
W N = ' - 123 20% ZHU i JHIR
eBOARMAE  [RI~RIO 3 7 36 2 0.07 N 70 590 118 20% P —
DI DRI E  [RARIO 3 7 37 1 0.02 AX AT 56 506 101 200/0 fﬁ{ﬂﬁﬂ@g AR
W OFMAS  [RA~RI0 3 7 37 2 0.02 AX AT 79 613 0 AR AR
Ware AN B o — : _ 123 20% ZEIR W ZAIR
&;fﬁﬁ‘bi%gi R4~R10 3 7 37 3 0.02 AX AL 79 613 123 20% R B R
RNVOFRMARE R4~R10 3 7 37 > ZHUN Y ZH3
4 4 0.02 A AT 79 613 123 20% ZEIR Mg ZHIR




I
T RS O S H

(1) Mtk
SR S P ES P [ % Fh T AR D B RO NEE X 5 A ft
L s I L e I e R e R R T e s - & fis
= o | o |7 (ha) ’ " (mn”) " MAlim®) | R PRBE— /N BE, £

WO E  [RA~RI0 3 7 38 1 0.01 A AT 79 613 123 20% JEIR ZHIR
W DNOBEMM S [RA~RI0 3 7 38 2 0.01 A AL 79 613 123 20% ZHUR IR
DRSO S R4~R10 3 7 38 3 0.01 AX AT 79 613 123 20% Z8 R H ZHIR
WL DNOBMAL S R4~R10 3 7 39 0 0.02 A AT 71 595 119 20% ZHIR HE 8N
WM S [RA~RI0 3 7 40 0 0.02 A AT 71 595 119 20% JEIR W i ZHIR
WRNOBEMES [RA~RI0 3 7 42 1 0.04 A AT 54 492 98 20% ZHR g IR
WO ES  [RA~RIO0 3 7 42 2 0.01 A AT 56 506 101 20% N ZEIR
WRNOHEMMEE  [R4A~RIO0 3 8 2 0 0.15 AX AT 70 590 118 20% N ZHIR
WO E  [R4A~RI0 3 8 3 1 0.02 A AT 77 613 123 20% JEIR AR
W NOBMAM S [RA~RI0 3 8 3 2 0.09 s AL 79 613 123 20% N IR
WO E  [RA~RI0 3 8 3 3 0.78 A AT 70 590 118 20% ZE38 IR
WRBNOEBMEES  [RA~RI0 3 8 4 0 0.22 A AT 70 590 118 20% ZER W 1 ZHIR
WO E  [R4A~RI0 3 8 5 0 0.22 A AT 70 590 118 20% JEIR ZAIR
WO S [RA~RI10 3 8 6 0 0.02 AR AL 69 585 117 20% N IR
WO E  [RA~RI0 3 8 7 1 0.06 A AT 67 573 115 20% ZE38 H IR
WRBNOEBMEES  [RA~RI0 3 8 7 2 0.46 A AT 79 613 123 20% ZER W ZHIR
W NOBREMME  [RA~RI0 3 8 8 0 0.35 A AT 70 590 118 20% N IR
DR OEMALE R4~R10 3 8 9 0 0.22 s AT 72 599 120 20% Z8 R H ZHIR
WL DDA S R4~R10 3 8 10 0 0.01 A AT 72 599 120 20% ZHIR HE AR
WO E  [R4A~RI0 3 8 11 0 0.11 A AT 72 599 120 20% JEIR g IR
WO S [RA~RI10 3 8 12 0 0.02 A AT 72 599 120 20% ZHUR IR
DRSO S R4~R10 3 8 13 0 0.16 AX AT 79 613 123 20% ZH I8 HE 8N
WL DDA S R4~R10 3 8 14 0 0.08 A AT 59 526 105 20% ZHIR HE AR
WO E  [R4A~RI0 3 8 15 0 0.06 A AT 79 613 123 20% JEIR g IR
WO S [RA~RI10 3 8 16 0 0.1 A AT 55 499 100 20% ZHUR IR
DRSO E R4~R10 3 8 17 0 0.14 AX AT 43 401 80 20% ZHIR HE 8N
WO E  [R4A~RIO0 3 8 18 0 0.03 AX AT 72 599 120 20% N ZHIR
WO E  [R4A~RI0 3 8 19 1 0.03 A AT 57 512 102 20% N ZAIR
WARNOHEMEES  [RA~RI0 3 8 19 2 0.02 s AL 71 595 119 20% N IR
WO E  [RA~RI0 3 8 20 1 0.26 A AT 69 585 117 20% JEIR B IR
WRNOHEMMEE  [R4A~RIO0 3 8 20 2 0.15 A AT 73 604 121 20% JEIR H ZHIR
WO E  [R4A~RI0 3 8 20 3 0.01 A AT 79 613 123 20% N ZAIR
WARNOHEMEES  [RA~RI0 3 8 21 0 0.03 s AT 73 604 121 20% N ZHIR
WO E  [RA~RI0 3 8 22 1 0.06 A AT 47 437 87 20% ZE38 IR
WM S [RA~RI0 3 8 22 2 0.03 A AT 69 585 117 20% JEIR W i ZHIR
WO S [RA~RI0 3 8 23 1 0.06 A AT 74 608 122 20% N IR
WO S [RA~RI0 3 8 23 2 0.02 AR AL 69 585 117 20% JEIR IR
W OBRMAE R4~R10 3 8 24 1 0.11 A AT 74 608 122 20% JHIR Y AN
WM S [RA~RI0 3 8 24 2 0.06 A AT 69 585 117 20% JEIR W JEIR
WM S [RA~RI0 3 8 25 0 0.03 A AT 69 585 117 20% ZHIR IR
WA OEMIE  [RA~RI10 3 8 26 1 0.11 A AT 73 604 121 20% ZE3R N
WO MAE R4~R10 3 8 26 2 0.06 A AT 69 585 117 20% JHIR Y AN
WM S [RA~RI0 3 8 27 0 0.08 A AT 75 613 123 20% JEIR W JEIR
W DNOBREMM S [RA~RI0 3 8 28 0 0.06 A AT 79 613 123 20% ZHIR IR
WA OEMIE  [RA~RI10 3 8 29 0 0.09 A AT 50 462 92 20% JEIR N
WO E  [R4A~RIO0 3 8 30 0 0.01 A AT 68 579 116 20% ZER W 1 ZHIR
W NOBREMME  [RA~RI0 3 8 31 0 0.04 A AT 79 613 123 20% N ZAIR
WO S R4~R10 3 8 32 0 0.07 AKX AL 74 608 122 20% Z8 iR HE ZHIR
WP OEMIEE  [RA~RI0 3 8 34 0 0.22 A AT 55 499 100 20% ZE38 ZEIR
WM S [RA~RI0 3 8 35 0 0.21 A AT 53 484 97 20% JEIR W i ZHIR
WL DNORMAE S R4~R10 3 8 36 0 0.21 A AT 58 519 104 20% ZHR H IR
WM S [RA~RI0 3 8 37 1 0.19 AR AL 79 613 123 20% N IR
WO E  |[RA~RI0 3 8 37 2 0.37 A AT 79 613 123 20% ZE38 ZEIR
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WO E  [RA~RI10 3 9 1 1 0.37 2AX AT 70 590 118 20% JEIR ZHIR
WO S R4~R10 3 9 1 2 0.37 s AT 71 595 119 20% ZAIR IR
DRSO S R4~R10 3 9 2 0 0.09 AX AL 72 599 120 20% ZEIR WV ZHIR
WL DNOBMAL S R4~R10 3 9 3 1 0.11 A AT 40 373 75 20% ZHIR HE 8N
WO E  [RA~RI10 3 9 3 2 0.35 2X AT 61 538 108 20% JEIR ZHIR
WO E  [RA~RI10 3 9 3 3 0.91 s AT 46 498 36 20% ZAIR IR
WO E  [RA~RI0 5 5 2 0 0.42 A AT 55 499 100 20% JEIR B FH 1
WA OEMIEE  [RA~RI0 5 5 3 1 0.26 A AT 78 613 123 20% ZEI8 HH
WO E  [RA~RI10 5 5 3 2 0.38 s AT 39 362 72 20% JEIR HH
DENDOFEMFES |[RA~RI10 5 5 4 1 0.28 AR AT 78 613 123 20% ZHIR B FH
WO S R4~R10 5 5 4 2 0.09 A AT 39 362 72 20% ZHIN g HH
WO E  [RA~RI10 5 5 5 1 0.05 2AX AT 78 613 123 20% ZEI8 HH
WO E  [RA~RI10 5 5 5 2 0.2 2X AT 78 613 123 20% JEIR HH
WO S R4~R10 5 5 6 0 0.46 AX AT 68 579 116 20% ZEIR AV FH g
WO S R4~R10 5 5 7 0 0.02 A AT 79 613 123 20% ZHIN g HH 1
WO E  [RA~RI10 5 5 8 0 0.02 X AT 79 613 123 20% ZHI8 HH
BB OBEMIE  [RA~RI10 5 5 9 1 0.12 s AT 79 613 123 20% JEIR W HH i
WENDOEEMFES |[RA~RI10 5 5 9 2 0.2 AR AT 77 613 123 20% JHIR W FH ¥
WL DDA S R4~R10 5 5 10 1 0.09 A AT 79 613 123 20% ZHIR HE 5
WO E  [RA~RI10 5 5 10 2 0.25 s AT 77 613 123 20% JEIR g HH
DENDOEMIES |[RA~RI10 5 5 11 0 0.15 s AT 24 191 38 20% JEIR R FH i
VA PY S Ry R4~R10 5 5 22 0 0.07 AX AT 77 613 123 20% ZHIR WY HH Vi
WL DDA S R4~R10 5 5 23 0 0.14 A AT 62 544 109 20% ZHIR HE 5
WO S R4~R10 5 5 24 0 0.06 A AT 69 585 117 20% JHIR HYE 5
WO E  [RA~RI10 5 5 25 0 0.13 s AT 69 585 117 20% JEI8 FH i
VA PYSuS iRy R4~R10 5 6 9 0 0.67 AX AT 48 445 89 20% ZHIR W ¥ FH Vi
WO E  [RA~RI10 6 1 2 0 0.01 A AT 78 613 123 20% ZEI8 HH
WO E  [RA~RI10 6 1 3 0 0.02 s AT 41 382 76 20% JEIR HH
WO ES |[RA~RI10 6 1 4 0 0.02 s AL 41 382 76 20% N FH 1
WO S R4~R10 6 1 5 0 0.01 A AT 40 373 75 20% ZHIN g HH Y
BB OEMIEE  [RA~RI10 6 1 6 0 0.04 2X AT 41 382 76 20% JEIR H HH
WO E  [RA~RI10 6 1 8 0 0.04 s AT 41 382 76 20% JEIR HH
WP OBMIE  [RA~RI10 6 1 9 0 0.03 s AT 41 382 76 20% N FH 1
WO S R4~R10 6 1 10 0 0.03 AKX AT 41 382 76 20% ZHIR W ¥ g
WA OEMIEE  [RA~RI10 6 1 11 0 0.03 2X AT 41 382 76 20% JEIR H HH
WO S R4~R10 6 1 12 0 0.04 s AT 41 382 76 20% JEIR g HH i
WO E  [RA~RI0 6 1 17 0 0.05] A STACH | 45 37 K H 0 0 0 20% JEIR W BN
WO ES  [RA~RI0 6 1 18 0 0.04] AT AH | 4 N7 A H 0 0 0 20% JEIR HH
WO S R4~R10 6 1 19 0 0.03] A NTACH | N7 A M 0 0 0 20% JEIR g HH
WO E  [RA~RI10 6 1 20 0 0.04| A 37 AH | #5537 A Hl 0 0 0 20% ZAI8 FH
VA PY S Ry R4~R10 6 1 21 0 0.49 A AT 65 562 112 20% ZHIRN HE HH Y
WO MAE R4~R10 6 1 22 1 1.22 A AT 61 538 108 20% JHIR Y 5
WO S R4~R10 6 1 22 2 0.56| FDfh)x~ PR 66 148 30 20% ZEIR AV HH g
WO ES |[RA~RI10 6 1 22 3 0.17 s AT 93 613 123 20% ZAI8 FH
VA PY S iRy R4~R10 6 1 23 1 1.97 A AT 61 538 108 20% ZHIRN HE HH Y
WO S R4~R10 6 1 23 2 1.28| =Dt~ RKIK 66 148 30 20% ZEI8 HH 1
WRBOEEMES  |[RA~RI10 6 1 23 3 0.1| ZDfth )i KK 66 148 30 20% ZHI8 HH
BIRDNO RS R4~R10 6 1 24 1 1.31| =D)L RIK 63 145 29 20% ZEIR WV FH Vi
WO E R4~R10 6 1 24 2 0.66 A AT 58 519 104 20% ZHIN g HH 1
WO E  [RA~RI10 6 1 24 3 0.84 2X AT 48 445 89 20% JEIR HH
DRSO S R4~R10 6 1 24 4 0.2| =Dt KK 63 145 29 20% ZAIR H
WO ES |[RA~RI10 6 1 25 1 0 AR AL 65 562 112 20% ZAIR HHif
W OBRMAE R4~R10 6 1 25 2 0 A AT 65 562 112 20% ZHIR g HH
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FIRAPMNRE = ~ 1 25 3 0 AX P 0 -
B DR ALA  [RI~RI0 6 2 I O BT AR = L L = ZUREL L%
BIRDVOBRMAE  [RA~RI10 6 2 1 2 0.32 AX AT 48 445 ; 200/0 ARHR Bk
RIRPDOFEMAEE  |RA~RI10 6 2 1 3 1.13 AX AL 58 519 189 200/0 fﬁﬁm@ %
BIRDSOBMAE  [RA~RI10 6 2 2 1 0.68 AX AT 58 519 184 20? Lol L
WRILBDORMAE  |R4A~RI10 6 2 2 2 0.19 AX AL 43 401 84 205) 2 R Bk
WIRDVOBMAE  [RA~RI10 6 2 2 3 0.52 AX AL 36 331 ; 200/0 ARHR Bk
BRI BNOFRMALE  |RA~RI10 6 3 1 1 0.83 AX AT 26 215 ig 200/0 fﬁﬁm@ 11
RIS OREMAEE  |R4~RI10 6 3 1 2 2.73| Z DA KR 59 142 o3 2006 ?E‘ﬁﬁﬂ‘@ i
DRSO S |[RA~RI0 6 3 1 3 0.41 AX AT 26 215 4 205) fﬁﬁﬁﬂ?ﬁ 177
e BNOFRMALLS  |RA~RI10 6 4 1 1 1.24 AX AL 78 613 : 200/0 f’g‘ﬁm?@ 17
WIRDVOMM LS [RA~RI10 6 1 1 2 0.56| Z DA KR 20 55 1?3 200/0 f/g‘ﬁm@ Bk
WSO S |[RA~RI10 6 4 1 3 0.59| £ DA 3{2{735 20 55 1} 20? f’g‘ﬁ'ﬂ@ L1175
WIS [RA~RI0 6 4 1 4 1.22 )i 33%735 20 55 11 200@ fE‘ ﬁﬁﬂ@ L1175
e BNOFRMALLS  |RA~RI10 6 4 1 5 2.26| O Tk 78 152 3 200/0 fﬁﬁm@ HE %
WIRDVOMM LS [RA~RI10 6 5 1 1 0.19| Z DA SRS 78 152 38 200/0 f/g‘ﬁm@ Bk
BIRDSOBMAE  [RA~RI10 6 5 1 2 0.63 AX AT 48 445 89 20? IR il Bk
BRI FMAE  |R4A~RI10 6 5 1 3 0.65 AX AL 45 420 4 2006 fﬁﬁm?@ 17
s DAL A [RI~RI0 6 5 ] Y S B BT 420 : > AR Ak
WA DEMM S |RA~RIO 6 5 1 5 1.54 AX AT 48 445 24 205) IR il Bk
DARPDEMMS  |RA~RI0 6 5 1 6 0.07 AX AT 31 275 59 205’ IR il BEki
WP OFMAES  [RA~RI10 6 5 1 7 0.03 AX AL 48 445 85 200/0 fﬁﬁﬁ@ L%
e DSOS [RA~RI10 6 6 1 1 0.08 A AT 48 445 - 200/0 f”g‘ﬁm‘@ L
TR IVDRRAHLEY  RA~RIO 6 6 1 2| 08[RVAHE B AN 0 0 0 o ZUR L1115
LR DOIMAES  |RA~R10 6 6 1 3 0.35 AX AL 48 445 s 20? fﬁﬁmﬁ 1%
WO S [RA~RI0 6 6 1 4 0.24 AX AT 31 275 59 200/0 fﬁﬁﬁ@ L%
WO E  [R4A~RIO0 6 6 1 5 0.37 2 AL 48 445 85 200/° fﬁ{ﬁﬁﬂ‘@ H i
BIRDSOBMAEE  [RA~RI10 6 6 1 6 0.22 AX AT 58 519 102 20? ?E‘ﬁﬁﬂ‘@ L1175
BIRDVORMAE  [RA~RI10 6 6 1 7 0.32 AX AL 34 309 205’ ZUR 17 L1175
BIRASOBMME  [RA~RI10 6 7 1 0 5.34 AX AL 66 568 162 200/0 AR ¥ 117
BIRDSOMAE  [RA~RI10 6 8 1 1 0.01 AX AT 63 550 1}4 200/0 ZREH Bk
BIRDSOBMAEE  [RA~RI10 6 8 1 2 0.01 AX AT 63 550 118 20? fﬁﬁ'ﬂ@ L1175
WILBDORMAE  |RA~RI10 6 8 1 3 0.01 AX AL 63 550 11 205) fﬁﬁﬂa@ L
BIRASOBMME  [RA~RI10 6 8 1 4 0.01 AX AL 63 550 1 0 200/0 AR ¥ 117
BIRDSOBMAEE  [RA~RI10 6 8 2 0 0.02 AX AT 55 499 1(1)0 200/0 Lo L
BRI DOFMAAE  |R4~RI10 6 8 3 0 0.67 AX AT 73 604 120 20? fﬁﬁﬁﬂ@ L
W DBMAA S  [RA~RI0 6 8 4 0 0.19 A% AL 78 613 121 o AR i
i DAL |RI~RI0 6 5 7 o o] x| AT 3 401 = = ZRE i
BIRDSOBMAEE  [RA~RI10 6 8 8 0 0.15 AX AT 70 590 118 20? fﬁﬁ'ﬂ‘@ S
WILBDORMAE  |R4A~RI10 6 8 9 0 0.25 AX AL 58 519 104 205) fﬁﬁ'ﬂ@ 7
BIRASOBMME  [RA~RI10 6 8 10 0 0.15 AX AL 65 562 112 200/0 AR ik
DAL |RI~RI0 6 s 12 o ol xx[ AT 0 3K 5 = ZREH Bk
DIRINOBEMAEE  |RA~RI10 6 8 13 1 0.08 AX AT 73 604 123 20? ARG Ak
DRSO S [RA~RI0 6 8 13 2 0.11 AX AL 79 613 121 205) fﬁﬁﬁﬂ@ [
BIRASOBMME  [RA~RI10 6 8 14 0 0.18 AX AL 80 613 123 200/0 AR ik
WAL BOFRMAS  |RA~RI10 6 8 15 0 0.23 AX AL 70 590 112 200/0 f/g‘ﬁm‘@ 17
BIRDVOBMAE  [RA~RI10 6 8 16 0 0.21 AX AL 80 613 123 2004, LR iy
WILBDORMA L |RA~RI10 6 8 17 0 0.15 AX AL 80 613 12 205) fﬁﬁm@ L
BT PNOFRMAE  |RA~RI10 6 8 18 0 0.14 AX AL 80 613 1 ; 200/0 f’g‘ﬁﬁﬂ@ 1177
WO E  [R4A~RI0 6 8 19 0 0.11 A AT 80 613 133 2004, f/E{Rlﬂﬂ{ﬁ H ¥
DN DEMMS  |RA~RIO 6 8 20 0 0.08 A¥ AT 63 550 118 2006 e s
m:&ﬁ?bﬁ%ﬁ'zﬂé\ R4~R10 6 8 21 0 0.07 AX AL 63 550 110 38;) f/gﬁig o
5 o ~ g b ZEIR H ;

BT BNOFRMALS  |RA~RI10 6 8 22 0 0.04 AX AL 63 550 110 20% N @g




I
T RS O S H

(1) [HIfk
FTESs T k% Sk 9D R D ELIL RO PSS A fif
== = =
Mt e | TP e | e | R | e | s | o | O | e | PR | Mgk L & fi§%
- wor | e |7 (ha) ’ ' (m®) MRm") | (RER) MRBE— /N BEA, E2

WO S R4~R10 6 8 23 0 0.04 2AX AT 80 613 123 20% ZHUR H H
WO E  [RA~RI10 6 8 24 0 0.04 s AT 69 585 117 20% JHI8 FH i
R OEMAES  |RA~R10 6 8 25 0 0.05 AX AT 69 585 117 20% ZEIR i FH ¥
WO E R4~R10 6 8 26 0 0.04 A AT 69 585 117 20% JEIR A VE HE
WO S R4~R10 6 8 27 0 0.03 2X AT 69 585 117 20% ZEUR H H
WO E  [RA~RI10 6 8 28 0 0.05 s AT 80 613 123 20% ZEI8 FH i
DR OEMALE R4~R10 6 8 29 0 0.57 A AT 33 298 60 20% ZHIR FH
WA OEMIEE  [RA~RI0 6 8 30 0 0.05 A AT 69 585 117 20% JEIR HH Vi
WBIRDOBMALE  [RA~RI10 6 8 31 0 0.04 AX AT 69 585 117 20% JER H i i
WV OBMAE S [RA~R10 6 8 32 0 0.04 AX AL 69 585 117 20% ZHIR it FH e
WO S R4~R10 6 8 33 0 0.04 AKX AT 68 579 116 20% JEIR A VE 2=REi3
WO S R4~R10 6 8 34 0 0.02 2AX AT 78 613 123 20% U H H
WO S R4~R10 6 8 35 0 0.06 2X AT 78 613 123 20% ZEUR H H
WO E  [RA~RI10 6 8 36 1 0.03 s AT 69 585 117 20% JHIR B FH
WO S R4~R10 6 8 36 2 0.03 AKX AT 65 562 112 20% JEIR A Ve 2=REi3
WO S R4~R10 6 8 37 0 0.06 X AT 69 585 117 20% R H H 1
WO S R4~R10 6 8 38 0 0.23 s AT 69 585 117 20% ZEIR H H
WO E  [RA~RI10 6 8 39 0 0.12 s AT 72 599 120 20% JHIR W FH ¥
WO S R4~R10 6 8 40 0 0.07 A AT 69 585 117 20% JEIR A VE HE
WO S R4~R10 6 8 41 0 0.11 s AT 72 599 120 20% ZAIR H
WO E  [RA~RI10 6 8 42 0 0.06 s AT 72 599 120 20% JEI8 FH i
VA PY S Ry R4~R10 6 8 43 0 0.15 AX AT 67 573 115 20% ZEIR A Ve I fE
WO S R4~R10 6 8 44 0 0.07 A AT 80 613 123 20% JEIR A VE HE
WO S R4~R10 6 8 45 1 0.11 s AT 75 613 123 20% ZAIR H
WO E  [RA~RI10 6 8 45 2 0.08 s AT 69 585 117 20% JEI8 FH i
VA PYSuS iRy R4~R10 6 8 46 0 0.07 AX AT 80 613 123 20% JEIR A Ve HE
WO E  [RA~RI10 6 8 47 0 0.07 A AT 103 613 123 20% JEIR ENA
WO E R4~R10 6 8 48 0 0.03 s AT 78 613 123 20% ZHUR H H
WO E  [RA~RI10 6 8 49 0 0.05 s AT 78 613 123 20% JEI8 W FH 1
WO S R4~R10 6 8 50 0 0.04 AKX AT 68 579 116 20% JEIR A Ve 2=REi3
WO S R4~R10 6 8 51 0 0.01 2X AT 70 590 118 20% R H H 1
WO S R4~R10 6 8 52 0 0.01 s AT 58 519 104 20% ZHUR H H
WP OBMIE  [RA~RI10 6 8 53 0 0.02 s AT 80 613 123 20% JEI8 W FH 1
WO S R4~R10 6 8 54 1 0.02 AKX AT 80 613 123 20% JEIR A Ve 2=REi3
WO S R4~R10 6 8 54 2 0.02 2X AT 72 599 120 20% R H H 1
WO S [RA~RI0 6 8 57 0 0.02 A AT 65 562 112 20% ZER W 1 H ¥
WO E  [RA~RI0 6 8 58 0 0.04 AR AT 57 512 102 20% ZEIR Mg HH
W OBRMAE R4~R10 6 8 59 1 0.01 A AT 55 499 100 20% ZEIR A E i
WO S R4~R10 6 8 59 2 0.01 s AT 60 532 106 20% ZAIR H
WO S R4~R10 6 8 60 1 0.11 s AT 60 532 106 20% ZAIR H
VA PY S Ry R4~R10 6 8 60 2 0.06 AX AT 60 532 106 20% JEIR A Ve HE
WO MAE R4~R10 6 8 61 0 0.01 A AT 108 613 123 20% ZEIR A E 2=REi3
WO S R4~R10 6 8 62 0 0.07 s AT 58 519 104 20% ZAIR H
WO E  [RA~RI10 6 8 64 0 0.04 s AT 58 519 104 20% ZAI8 FH
VA PY S iRy R4~R10 6 8 65 0 0.02 AX AT 78 613 123 20% JEIR A Ve HE
WO E  [RA~RI10 6 8 66 0 0.02 2X AT 67 573 115 20% JEIR ENA
WO S R4~R10 6 8 67 2 0.02 s AT 67 573 115 20% ZEUR H
WAV ORMA S [RA~RI10 6 8 67 3 0.04 AX AT 54 492 98 20% ZHIR Mt FH e
WO E R4~R10 6 8 68 0 0.06 A AT 54 492 98 20% JEIR A VE i
WO S R4~R10 6 8 69 0 0.04 2X AT 61 538 108 20% R H 1
DRSO S R4~R10 6 8 70 0 0.04 s AT 61 538 108 20% ZAIR H
W VNOBMAES  [RA~R10 6 8 71 0 0.02 AX AL 61 538 108 20% ZHIR Ml e
W OBRMAE R4~R10 6 8 72 0 0.05 AKX AT 78 613 123 20% JEIR A VE i
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WO S R4~R10 6 8 73 0 0.26 2AX AT 67 573 115 20% ZHUR H H
WO E  [RA~RI10 6 8 74 0 0.04 s AT 67 573 115 20% JHI8 FH i
R OEMAES  |RA~R10 6 8 75 0 0.05 AX AT 80 613 123 20% ZEIR i FH ¥
WO E R4~R10 6 8 76 0 0.03 A AT 61 538 108 20% JEIR A VE HE
WO S R4~R10 6 8 77 0 0.02 2X AT 61 538 108 20% ZEUR H H
WO E  [RA~RI10 6 8 78 0 0.03 s AT 78 613 123 20% ZEI8 FH i
DR OEMALE R4~R10 6 8 79 0 0.01 A AT 80 613 123 20% ZHIR FH
WA OEMIEE  [RA~RI0 6 8 80 0 0.04 A AT 62 544 109 20% JEIR HH Vi
WBIRDOBMALE  [RA~RI10 6 8 81 0 0.05 AX AT 62 544 109 20% JER H i i
DENDOFEMFES |[RA~RI10 6 8 82 1 0.03 AR AT 62 544 109 20% ZAR HH ifi
WO S R4~R10 6 8 82 2 0.01 AKX AT 80 613 123 20% JEIR A VE 2=REi3
WO S R4~R10 6 8 82 3 0.01 2AX AT 52 477 95 20% U H H
WO S R4~R10 6 8 82 4 0.01 2X AT 80 613 123 20% ZEUR H H
WO E  [RA~RI10 6 8 82 5 0.01 s AT 63 550 110 20% JHIR B FH
WO S R4~R10 6 8 902 0 0 AKX AT 64 556 111 20% JEIR A Ve 2=REi3
WO S R4~R10 6 8 903 0 0 X AT 63 550 110 20% R H H 1
WO S R4~R10 6 9 4 91 0.02 s AT 63 550 110 20% ZEIR H H
WO E  [RA~RI10 6 9 4 92 0.02 s AT 63 550 110 20% JHIR W FH ¥
WO S R4~R10 6 9 5 1 0.01 A AT 63 550 110 20% JEIR A VE HE
WO S R4~R10 6 9 5 2 0.01 s AT 93 613 123 20% ZAIR H
WO E  [RA~RI10 6 9 5 3 0.01 s AT 93 613 123 20% JEI8 FH i
VA PY S Ry R4~R10 6 9 6 0 0.05 AX AT 70 590 118 20% ZEIR A Ve I fE
WO S R4~R10 6 9 7 1 0.01 A AT 70 590 118 20% JEIR A VE HE
WO S R4~R10 6 9 7 2 0.01 s AT 70 590 118 20% ZAIR H
WO E  [RA~RI10 6 9 8 1 0.01 s AT 80 613 123 20% JEI8 FH i
VA PYSuS iRy R4~R10 6 9 8 2 0.01 AX AT 67 573 115 20% JEIR A Ve HE
WO BRMAE R4~R10 6 9 8 3 0.01 A AT 67 573 115 20% ZEIR AV 2=REi3
WO E R4~R10 6 9 9 1 0.01 s AT 67 573 115 20% ZHUR H H
WO ES |[RA~RI10 6 9 9 2 0.01 s AT 65 562 112 20% JEI8 W FH 1
WO S R4~R10 6 9 9 3 0.01 AKX AT 67 573 115 20% JEIR A Ve 2=REi3
WARNDOEMMEE  [RA~RIO0 6 9 9 4 0.01 2 AT 67 573 115 20% R H H 1
WO S R4~R10 6 9 9 5 0.01 s AT 67 573 115 20% ZHUR H H
VA PY S Eay R4~R10 6 9 9 6 0.13 A AT 65 562 112 20% ZEIR WV FH V5
WO S R4~R10 6 9 9 7 0.01 AKX AT 67 573 115 20% JEIR A Ve 2=REi3
WO S R4~R10 6 9 10 0 0.07 2X AT 67 573 115 20% R H H 1
WO S [RA~RI0 6 9 20 1 0.01 A AT 65 562 112 20% ZER W 1 H ¥
RO IEMAES  |RA~R10 6 9 25 0 0.02 AX AL 67 573 115 20% ZHIR il FH Vi
W OBRMAE R4~R10 6 9 26 1 0.01 A AT 65 562 112 20% ZEIR A E i
WO S R4~R10 6 9 26 2 0.01 s AT 67 573 115 20% ZAIR H
WO ES |[RA~RI10 6 9 26 3 0.01 s AT 65 562 112 20% ZAI8 FH
VA PY S Ry R4~R10 6 9 27 1 0.01 AX AT 67 573 115 20% JEIR A Ve HE
WO MAE R4~R10 6 9 27 2 0.01 A AT 67 573 115 20% ZEIR A E 2=REi3
WO S R4~R10 6 9 27 4 0.02 s AT 67 573 115 20% ZAIR H
WO ES |[RA~RI10 6 9 28 8 0.02 s AT 65 562 112 20% ZAI8 FH
VA PY S iRy R4~R10 6 9 41 0 0.06 AX AT 65 562 112 20% JEIR A Ve HE
WO E  [RA~RI10 7 4 16 1 0.25 2X AT 79 613 123 20% JEIR ENA
WO S R4~R10 7 4 16 2 0.01 s AT 79 613 123 20% ZEUR H
WIR VN OBMAES  [RA~R10 7 4 16 3 0.01 AX AL 70 590 118 20% ZHIR Mt FH e
WO E R4~R10 7 6 2 1 0.04 A AT 70 590 118 20% JEIR A VE i
WO S R4~R10 7 6 2 2 0.05 2X AT 70 590 118 20% R H 1
DRSO S R4~R10 7 6 3 0 0.12 s AT 70 590 118 20% ZAIR H
WO ES |[RA~RI10 7 6 12 0 0.24 AR AL 79 613 123 20% JHIR W FH 1
W OBRMAE R4~R10 7 6 14 0 0.17 AKX AT 79 613 123 20% JEIR A VE i
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WO S R4~R10 7 6 16 0 0.14 2AX AT 79 613 123 20% ZHUR H H
WO S R4~R10 7 6 18 0 0.13 s AT 42 392 78 20% ZAIR H
WALV ORMAL S [RA~RI10 7 6 20 0 0.31 AX AT 42 392 78 20% ZHIR Mt FH e
WO E R4~R10 7 6 26 1 0.26 A AT 75 613 123 20% JEIR A VE HE
WO S R4~R10 7 6 26 2 0.26 2X AT 75 613 123 20% ZEUR H H
WO E  [RA~RI10 8 1 15 1 0.23 s AT 63 550 110 20% ZEI8 FH i
DR OEMALE R4~R10 8 1 15 2 0.24 AF AT 70 590 118 20% ZHIR FH
WO S R4~R10 8 1 15 3 0.24 A AT 67 573 115 20% ZEIR AV 2=REi3
WO S R4~R10 8 1 16 0 0.04 s AT 67 573 115 20% ZEUR H H
WO E  [RA~RI10 8 1 17 0 0.39 s AT 75 613 123 20% ZHIR B FH
WO S R4~R10 8 1 18 1 0.01 AKX AT 78 613 123 20% JEIR A VE 2=REi3
WO S R4~R10 8 1 18 2 0.01 2AX AT 78 613 123 20% U H H
BIRDOBMALE  [RA~RI10 8 1 18 3 0.02 AX AT 78 613 123 20% JER M i i
DENDOFEMIES [RA~RI10 8 2 6 1 0.12 AR AL 65 562 112 20% ZAIR HH ifi
WO S R4~R10 8 2 6 2 0.12 AKX AT 55 499 100 20% JEIR A Ve 2=REi3
WO S R4~R10 8 2 7 1 0.18 X AT 53 484 97 20% R H H 1
WO S R4~R10 8 2 7 2 0.18 s AT 70 590 118 20% ZEIR H H
DR OEMALE R4~R10 8 2 7 3 0.17 AR AT 55 499 100 20% ZHIR HH
WO S R4~R10 8 2 8 0 0.33 A AT 53 484 97 20% JEIR A VE HE
WO S R4~R10 8 2 9 0 0.02 s AT 53 484 97 20% ZAIR H
WO S R4~R10 8 2 10 1 0.33 s AT 53 484 97 20% ZAIR H
VA PY S Ry R4~R10 8 2 10 2 0.33 AX AT 58 519 104 20% ZEIR A Ve I fE
WO S R4~R10 8 2 11 1 0.31 A AT 55 499 100 20% JEIR A VE HE
WO S R4~R10 8 2 11 2 0.31 s AT 55 499 100 20% ZAIR H
DENDOEMIES |[RA~RI10 8 2 13 1 0.01 s AT 78 613 123 20% JEI8 FH i
VA PYSuS iRy R4~R10 8 2 13 2 0.01 AX AT 78 613 123 20% JEIR A Ve HE
LA RNDOIEMMES  |RA~RI10 8 2 13 3 0.01 AX AT 78 613 123 20% ZHIR i FH e
BIRDSOBMAEE  [RA~RI10 8 2 13 1 0.01 AX AT 78 613 123 20% JH R HH i i
WO HEMIE  |R4~RI10 8 2 13 5 0.01 AX AT 78 613 123 20% ZEIR i FH ¥
WO S R4~R10 8 2 13 6 0.01 AKX AT 78 613 123 20% JEIR A Ve 2=REi3
WO S R4~R10 8 2 14 1 0.04 2X AT 78 613 123 20% R H H 1
WO S R4~R10 8 2 14 2 0.04 s AT 78 613 123 20% ZHUR H H
WP OBMIE  [RA~RI10 8 2 15 2 0.03 s AT 70 590 118 20% JEI8 W FH 1
WO S R4~R10 8 2 16 1 0.01 AKX AT 78 613 123 20% JEIR A Ve 2=REi3
WO S R4~R10 8 2 16 2 0.01 2X AT 85 613 123 20% R H H 1
WO S R4~R10 8 2 16 3 0.01 s AT 85 613 123 20% ZEUR M H
WARNDOHEMIE  |R4~RI10 8 2 16 4 0.01 AX AT 78 613 123 20% ZHIR il FH Vi
W OBRMAE R4~R10 8 2 17 1 0.04 A AT 78 613 123 20% ZEIR A E i
WO S R4~R10 8 2 17 2 0.04 s AT 78 613 123 20% ZAIR H
WO ES |[RA~RI10 8 2 18 1 0.04 s AT 78 613 123 20% ZAI8 FH
VA PY S Ry R4~R10 8 2 18 2 0.04 AX AT 78 613 123 20% JEIR A Ve HE
WO MAE R4~R10 8 2 19 1 0.02 A AT 78 613 123 20% ZEIR A E 2=REi3
WO S R4~R10 8 2 19 2 0.03 s AT 78 613 123 20% ZAIR H
WO ES |[RA~RI10 8 2 20 1 0.03 s AT 78 613 123 20% ZAI8 FH
VA PY S iRy R4~R10 8 2 20 2 0.03 A AT 78 613 123 20% JEIR A Ve HE
WO E  [RA~RI10 8 2 901 0 0.18 2X AT 53 484 97 20% JEIR ENA
WO S R4~R10 8 2 902 0 0 s AT 78 613 123 20% ZEUR H
WO ES [RA~RI10 15 1 1 1 4.51 s AL 73 604 121 20% ZAIR Hif
WO E R4~R10 15 1 1 2 1.55| DAt~ KR 38 107 21 20% ZHIR HYE Vi
WARNDOEMMEE  [RA~RI0 15 1 1 3 2.47| Z DA )i KK 48 128 26 20% R H 1
DRSO S R4~R10 15 1 1 4 0.26 s AT 73 604 121 20% ZAIR H
VAV PY IS Ry R4~R10 15 1 2 0 0.09 AX AL 68 579 116 20% ZEIR WV FH ¥
W OBRMAE R4~R10 15 1 3 0 0.02 AKX AT 69 585 117 20% JEIR A VE i
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FIRAPMNRE = ~ 1 4 0 0.21 AF P 0 -
BIRDSOBMAE  [RA~RI10 15 1 5 1 0.05 ;ﬂ; ﬁjjf gg g;g 36 20?’ AN L
BIRDVOBRMAE  [RA~RI10 15 1 5 2 0.05 AX AL 69 585 116 200/0 AL S
RIRPDOFEMAEE  |RA~RI10 15 1 6 1 0.01 AX AL 69 585 L 200/0 fﬁﬁm@ %
BIRDSOBMAE  [RA~RI10 15 1 6 2 0.01 AX AT 69 585 37 205) ZREH ek
DN DEMMS  |RA~RI0 15 1 6 3 0.03 A¥ AL 69 585 117 2Of AN L
WIRDVOBMAE  [RA~RI10 15 1 7 0 0.12 AX AL 68 579 117 200/0 AL S
RIRBOFEMAEE  |RA~RI10 15 1 8 1 0.04 AX AL 59 526 106 200/0 fﬁ?ﬁm@ Bk
WBIRDOBMALE  [RA~RI10 15 1 8 3 0.04 AX AT 64 556 115 200@ ?E‘ﬁﬁﬂ‘@ iy
WILBDORMA L |R4A~RI10 15 1 8 4 0.04 AX AL 64 556 111 2006 fﬁﬁﬁﬂ@ L
e BNOFRMALLS  |RA~RI10 15 1 8 5 0.04 AX AL 69 585 1 200/0 f’g‘ﬁm?@ 17
BIRDSOBMAEE  [RA~RI10 15 1 8 6 0.04 AX AT 69 585 37 200/0 ZRED Bk
BIRDOBMALE  [RA~RI10 15 1 8 7 0.04 AX AT 59 526 102 20? f’g‘ﬁ'ﬂ@ L1175
DILHOFRbAE S [R4~RI0 15 1 8 8 0.04 A¥ AL 59 526 1 205) At il £l
BIRASOMME  [RA~RI10 15 1 9 1 0.02 AX AL 69 585 T 200/0 AR 1%
BIRDSOMAEE  [RA~RI10 15 1 9 2 0.02 AX AT 59 526 }(1)7 200/0 ZRED Bk
BIRDSOBMAE  [RA~RI10 15 1 9 3 0.02 AX AT 69 585 11? 20? LT iy
WD DBMAA S [RA~RI0 15 1 10 1 0.01 A¥ AT 50 462 o et S
RIRPDOFEMAEE  |RA~RI10 15 1 10 2 0.01 AX AL 50 462 - 200/0 fﬁﬁm@ Ak
BIRDSOBMAEE  [RA~RI10 15 1 10 3 0.07 AX AT 48 445 Zé 20? fﬁ?ﬂm‘@ L1
LIRS OBMAE S [RA~RI0 15 1 10 4 0.07 AF AL 48 445 8 205) A A L%
BIRDVOBMAE  [RA~RI10 15 1 11 2 0.01 AX AL 49 454 ? 200/0 AR 11
RIRPDOFEMAEE  |RA~RI10 15 1 11 3 0.01 AX AL 49 454 91 200/0 fﬁ{ﬁﬁﬂ‘@ %
BIRDSOBMAEE  [RA~RI10 15 1 11 4 0.01 AX AT 48 445 29 20? fﬁ?ﬂm‘@ L1
LIRS OBMAE S [RA~RI0 15 1 11 5 0.21 AX AL 48 445 8 205) fﬁﬁ'ﬂﬂ@ 17
WIRDVOBMAME  [RA~RI10 15 1 11 6 0.01 AX AL 49 454 ; 200/0 AR 11
N OBMAE S [RA~RI10 15 1 12 0 0.11 AX AT 49 454 31 200/° fﬁ{ﬁﬁﬂ‘@ FH Vi
BIRDSOBMAEE  [RA~RI10 15 1 13 1 0.03 AX AT 68 579 11(15 20? ?E‘ﬁﬁﬂ‘@ L1175
LN OBMAL S [RA~RI10 15 1 13 2 0.11 A% AT 68 579 11 0 e e
e BNOFRMAS  |RA~RI10 15 1 14 1 0.01 AX AL 49 454 : 200/0 f’g‘ﬁ'ﬂ@ 117
BIRDSOMAE  [RA~RI10 15 1 14 2 0.08 AX AT 49 454 31 200/0 ZREH Bk
BIRDSOBMAEE  [RA~RI10 15 1 14 3 0.01 AX AT 59 526 mé 20? fﬁﬁ'ﬂ@ L1175
WILBDORMAE  |RA~RI10 15 1 15 1 0.01 AX AL 53 484 205) fﬁﬁﬂa@ i
e BNOFRMAS  |RA~RI10 15 1 15 2 0.05 AX AL 53 484 o 200/0 f’g‘ﬁ'ﬂ@ 117
BIRDSOBMAEE  [RA~RI10 15 1 16 0 0.17 AX AT 36 331 27 200/0 ZREH Bk
DN DEMMS  |RA~RI0 15 1 17 0 0.17 AF AT 48 445 88 200@ R il Bk
DR MALA  [RI<RI0 5 T oo 0 o =% AT 50 465 = ZURHH L%
WIeBNOFRMALS  |RA~RI10 15 1 902 0 0 AX N 60 532 18(23 200/0 fﬁﬁm@ L
BIRDSOBMAEE  [RA~RI10 15 1 903 0 0 AX AT 70 590 118 20? fﬁﬁ'ﬂ‘@ S
WILBDORMAE  |R4A~RI10 15 1 904 0 0.01 AX AL 65 562 112 205) fﬁﬁlﬂ@ iy
BIRASOBMME  [RA~RI10 15 1 905 0 0 X AT 65 562 11 200/0 AR Aok
WIASDIEMAL S [RI~RIO 15 i 906 o ool = T 65 562 W o AR 1115
BIRDSOBMAEE  [RA~RI10 15 1 907 0 0.01 AX AT 65 562 112 20? f/g‘ﬁm‘@ 17
WILBDORMAE  |R4A~RI10 15 2 1 0 0.2 AX AL 58 519 104 205) fﬁﬁ'ﬂ@ 7
BIRASOBMME  [RA~RI10 15 2 2 1 0.05 AX AL 58 519 10 200/0 L S
WAL BOFRMAS  |RA~RI10 15 2 2 2 0.01 AX AL 58 519 101 200/0 ?E{REH‘@ ki
BIRDVOBMAE  [RA~RI10 15 2 2 3 0.01 AX AL 58 519 104 2004, LR iy
WILBDORMA L |RA~RI10 15 2 2 4 0.01 AX AL 58 519 1 2006 fﬁﬁﬁa@ L
BT PNOFRMAE  |RA~RI10 15 2 2 5 0.05 AX AL 58 519 104 200/0 f’g‘ﬁﬁﬂ@ 1177
BIRDSOBMAE  [RA~RI10 15 2 3 0 0.32 AX AT 54 492 84 205) ZREH Bk
DN DEMMS  |RA~RIO 15 2 4 1 0.26 A¥ AT 68 579 112 205) At il iy
m:&ﬁ?bﬁ%ﬁ'zﬂé\ R4~R10 15 2 4 2 0.81 AX AL 64 556 111 38;) f/gﬁig o

5 o ~ g d ZEIR H ;
BT BNOFRMALS  |RA~RI10 15 2 5 2 0.57 AX AL 78 613 123 20% N @g
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